NAZWA
HANDLOWA:

PL
EN
DE
CZ
SK
FR
DK
NO
SV
Fl
LT
LV
EE
HU
UA

2 Cs

URSa

DF37

48UGW37NRN19071

DF37, OPTIMUM 37, HOME 37, HOME 37 (W), MULTIRULLE 37,

ROLL 37, URSA DF37 OPTIMUM, DF37 OPTIMUM,
ISOLERINGRULLE

DEKLARACJA WtASCIWOSCI UZYTKOWYCH
DECLARATION OF PERFORMANCE
LEISTUNGSERKLARUNG

PROHLASENI O VLASTNOSTECH
VYHLASENIE O PARAMETROCH
DECLARATION DES PERFORMANCES
YDEEVNEDEKLARATION
YTELSESERKLAERING
PRESTANDADEKLARATION
SUORITUSTASOILMOITUS
EKSPLOATACINIY SAVYBIY DEKLARACIJA
EKSPLUATACIJAS TPASIBU DEKLARACIJA
TOIMIVUSDEKLARATSIOON
TELJESITMENYNYILATKOZAT
OEKNAPALLIA POEOYMX XAPAKTEPUCTUK

co oo ~ N

10
12
14
16
18
20
22
24
26
28
30



DEKLARACJA WEASCIWOSCI UZYTKOWYCH

Nr 48UGW37NRN19071

Niepowtarzalny kod identyfikacyjny typu wyrobu:
DF37 MW-EN 13162-T2-MU1-AFr5

Zamierzone zastosowanie lub zastosowania:
Izolacja cieplna w budownictwie

Producent:
URSA Polska Sp. z 0.0.
ul. Armii Krajowej 12
42-520 Dgbrowa Goérnicza

www.ursa.pl

Upowazniony przedstawiciel
Nie dotyczy

System(-y) oceny i weryfikacji statosci wtasciwosci uzytkowych:
System 3, reakcja na ogien System 1

Norma zharmonizowana:

EN 13162:2012+A1:2015 (PN-EN 13162+A1:2015-04)
Jednostka lub jednostki notyfikowane:

Nr 0672

Universitat Stuttgart fir die

Materialprifungsanstalt Universitat Stuttgart

(MPA Stuttgart, Otto-Graf-Institut, (FMPA))

e
URSS

7. Deklarowane wtasciwosci uzytkowe:
Zharmonizowana
Podstawowa charakterystyka Spetnienie specyfikacja
techniczna
7.1 Reakcja na ogien Reakcja na ogien Euroklasy Al
Uwalnianie sie substancji Lo . Metoda
. . Uwalnianie substancji . .
7.2 niebezpiecznych do . ] zharmonizowana nie NPD
, . niebezpiecznych ,
Srodowiska wewnetrznego zostata okreslona
Wskaznik pochtaniania
7.3 , p' Pochtanianie dZzwieku AP, AW NPD
dzwieku
Lo . Sztywnos$¢ dynamiczna SD NPD
Wskaznik izolacyjnosci od —
L . Grubosé dL dL NPD
7.4 | diwiekéw uderzeniowych — —
. Scisliwos¢ CcpP NPD
(dla podtog) - -
Opor przeptywu powietrza AFr NPD
Wskaznik izolacyjnosci od
dzwiekdw powietrznych EN
7.5 ¢ P y Opodr przeptywu powietrza AFr > 5 kPa*s/m? 13162:2012+A1:2015
przenoszonych droga (PN-EN
bezposdrednia N otoda 13162+A1:2015-04)
Ciggte spalanie w postaci Ciggte spalanie w postaci . .
7.7 . ) . ) zharmonizowana nie NPD
Zarzenia zarzenia .
zostata okredlona
Wspodtczynnik przewodzenia L
Grubos¢ dy [mm Opor cieplny Rp [m**K/W
ciepta Ay [W/m*K] n [mm] p piny Rp [ /W]
25 0,65
40 1,05
7.7 Opor cieplny 0,037 45 1,20
50 1,35
60 1,60
70 1,85



http://www.ursa.pl/

80 2,15

Wspétczynnik przewodzenia
ciepta Ap [W/m*K]

Grubo$¢ dy [mm] Opodr cieplny Rp [M?*K/W]

95 2,55
100 2,70
120 3,20
140 3,75
145 3,90
150 4,05
7.7 Opor cieplny 0,037 155 4,15
160 4,30
180 4,85
195 5,25
200 5,40
220 5,90
240 6,45
250 6,75
Grubosé Tolerancja grubosci T T2
Krotkotrwafagamakllwosc WS NPD
78 | Przepuszczainost wody Dtu otrwa\?laongsi kliwos¢
& 3 WL(P) NPD
woda
Przepuszczalnos¢ par
7.9 P . pary Przenikanie pary wodnej MU 1
wodnej
o ' Naprezenia ISIC|ska’Ja.ce Iu'b cs NPD
7.10| Wytrzymatosc¢ na Sciskanie | wytrzymatos¢ na Sciskanie
Obcigzenie punktowe PL NPD
.. . L, Wtasciwosci uzytkowe reakcji na ogien dla wyrobdw z wetny mineralnej nie
Trwatosc reakcji na ogien L . o ) .
. , pogarszaja sie w czasie. Klasyfikacja wyrobu wedtug Euroklas jest zwigzana z
w funkgji ciepta, warunkéw L. L. . , . . .. .
7.11 . zawartoscig czesci organicznych, ktére nie moga zwiekszac sie w czasie
atmosferycznych, starzenia
degradacji
/ deg ) Euroklasa Al
Wspotczynnik przewodzenia ciepta wyrobdéw
z wetny mineralnej nie zmienia sie w czasie,
Trwatos¢ oporu cieplnego L , . doswiadczenie wykazato stabilnos¢ struktury
Opor cieplny - wspdtczynnik s . S .
w funkcji ciepta, warunkéw L wtdkien, a pory nie zawierajg zadnych innych
7.12 przewodzenia ciepta , . .
atmosferycznych, starzenia gazdw, niz powietrze atmosferyczne.
/ degradacji
Deklarowane poziomy patrz punkt 6.7
Trwatos¢ wtasciwosci DS (70,-) NPD
Wytrzymatosé na Wytrzymatosé na roz.ciagani.e
7.13 . . L prostopadte do powierzchni TR NPD
rozcigganie / zginanie
czotowych
Trwatos$¢ wytrzymatosci na
7.14 Sciskanie w funkgji Petzanie przy $ciskaniu cC NPD
starzenia / degradacji

EN
13162:2012+A1:2015
(PN-EN
13162+A1:2015-04)

Wiasciwosci uzytkowe okreslonego powyzej wyrobu sg zgodne z zestawem deklarowanych wtasciwosci uzytkowych. Niniejsza

deklaracja wtasciwosci uzytkowych wydana zostaje zgodnie z rozporzgdzeniem (UE) nr 305/2011 na wytgczng

odpowiedzialno$¢ producenta okreslonego powyzej.

W imieniu producenta podpisat(a):

Dabrowa Gornicza

Dyrektor Za
30.08.2024 ‘




DECLARATION OF PERFORMANCE

No 48UGW37NRN19071
URSa
1. Unique identification code of the product-type:
DF37 MW-EN 13162-T2-MU1-AFr5
2. Intended use/es:
Thermal insulation for building
3. Manufacturer:
URSA Polska Sp. z 0.0.
ul. Armii Krajowej 12
42-520 Dgbrowa Goérnicza
www.ursa.pl
4. Authorized Representative
Not applicable
5. System/s of AVCP:
SYSTEM 3, reaction to fire SYSTEM 1
6. Harmonised standard:
EN 13162:2012+A1:2015 (PN-EN 13162+A1:2015-04)
Notified body/ies:
No 0672
Universitat Stuttgart fir die
Materialprifungsanstalt Universitat Stuttgart
(MPA Stutteart. Otto-Graf-Institut. (FMPA))
7. Declared performance/s:
Harmonized
Essential characteristics Performance technical
specification
7.1 Reaction to fire Reaction to fire Euroclasses Al
Release of dangerous Rel fd Harmonization
7.2 | substances to the indoor Fiease of dangerous method has not been NPD
. substances .
environment determined
7.3 | Acoustic absorption index Sound absorption AP, AW NPD
EN
Dynamic stiffness SD NPD 13162:2012+A1:2015
24 Impact noise transmission Thickness dL dL NPD (PN-EN
' index (for floors) Compressibility cp NPD 13162+A1:2015-04)
Air flow resistivity AFr NPD
Direct airborne sound . Lo " ,
7.5 . L Air flow resistivity AFr > 5 kPa*s/m
insulation index
Continuous glowin Continuous glowin Harmonization
7.6 g & g & method has not been NPD
combustion combustion

determined

Th | conductivity A
ermal conductivity Ay Thickness dy, [mm]

Thermal resistance Rp

[W/m*K] [MZ*K/W]
25 0,65
40 1,05
45 1,20
50 1,35
60 1,60



http://www.ursa.pl/

70 1,85
80 2,15
95 2,55
100 2,70
7.7 Thermal resistance 120 3,20
0,037 140 3,75
145 3,90
150 4,05
155 4,15
160 4,30
180 4,85
195 5,25
200 5,40
220 5,90
240 6,45
250 6,75
Thickness Thickness tolerance T T2
Short water absorption WS NPD
7.8 Water permeability ] .
Long-lasting water absorption WL(P) NPD
7.9 | Water vapour permeability| Water vapour transmission MU 1
' Compress'lve stress or cs NPD
7.10] Compressive strength compressive strength
Point load PL NPD
. . The fire performance of mineral wool does not deteriorate with time. The Euroclass
Durability of reaction to e . . . .
) ] classification of the product is related to the organic content, which cannot increase
fire against heat, e
7.11 . with time
weathering,
ageing/degradation
geing/deg Euroclass Al
Thermal conductivity of mineral wool products does
. not change with time, experience has shown the
Durability of thermal . . . .
. . Thermal resistance and fibre structure to be stable and the porosity contains
resistance against heat, . o
7.12 . thermal conductivity no other gases than atmospheric air
weathering,
ageing/degradation .
Declared levels refer to section 6.7
Durability characteristics DS (70,-) NPD
. Tensile strength
7.13| Tensile / Flexural strenght . g TR NPD
perpendicular to faces
Durability of compressive
7.14| strength against ageing/ Compressive creep CcC NPD

degradation

EN
13162:2012+A1:2015
(PN-EN
13162+A1:2015-04)

The performance of the product identified above is in conformity with the set of declared performance/s. This declaration of
performance is issued, in accordance with Regulation (EU) No 305/2011, under the sole responsibility of the manufacturer

identified above.

Signed for and on behalf of the manufacturer by:

Dabrowa Goérnicza

30.08.2024




LEISTUNGSERKLARUNG
Nr. 48UGW37NRN19071

o

URSa

1. Eindeutiger Kenncode des Produkttyps:
DF37 MW-EN 13162-T2-MU1-AFr5
2. Verwendungszweck(e):
Warmedammstoffe fir Gebaude
3. Hersteller:
URSA Polska Sp. z 0.0.
ul. Armii Krajowej 12
42-520 Dgbrowa Gérnicza
www.ursa.pl
4. Vertretungsberechtigter
Nicht zutreffend
5. System(e) zur Bewertung und Uberpriifung der Leistungsbestindigkeit:
SYSTEM 3,brandverhalten SYSTEM 1
6. Harmonisierte Norm:
EN 13162:2012+A1:2015 (PN-EN 13162+A1:2015-04)
Notifizierte Stelle(n):
Nr 0672
Universitat Stuttgart fir die
Materialprifungsanstalt Universitat Stuttgart
(MPA Stutteart. Otto-Graf-Institut. (FMPA))
7. Erklarte Leistung(en):
Harmonisierte
Wesentliche Merkmale Leistung technische
Spezifikation
7.1 Brandverhalten Brandverhalten Euroklasse Al
Freisetzung gefahrlicher Freiset eshrlich hBlsher I.<e.|n<:
7 Stoffe, Abgabe in das reisetzung gefahrlicher aimon|5|er e NPD
. . Stoffe Prifmethode
Gebaudeinnere .
verfiigbar
7.3 Schallabsorptionsgrad Schallabsorption AP, AW NPD
EN
Dynamische Steifigkeit SD NPD 13162:2012+A1:2015
24 Trittschalliibertragung Dicke dL dL NPD (PN-EN
. o 13162+A1:2015-04
(fir Boden) Zusammendriickbarkeit cp NPD * )
Stromungswiderstand AFr NPD
7.5 Luftschallddmm-MaR Strémungswiderstand AFr >5 kPa*s/m?
Bisher keine
7.6 Glimmverhalten Glimmverhalten hatmon|5|erte NPD
Prifmethode
verfiigbar

Wirmeleitfahigkeit A, Dicke dy [mm]
N

Warmewiderstand Ry

[W/m*K] [MZ*K/W]
25 0,65
40 1,05
45 1,20
50 1,35
60 1,60



http://www.ursa.pl/

70 1,85
80 2,15
95 2,55
100 2,70
Warmedurchlasswidersta
7.7 d 120 3,20
n
0,037 140 3,75
145 3,90
150 4,05
155 4,15
160 4,30
180 4,85
195 5,25
200 5,40
220 5,90
240 6,45
250 6,75
Dicke Dickentoleranz T T2
Kurzfristige Wasseraufnahme WS NPD
7.8 | Wasserdurchldssigkeit I arhaliende
& WL(P) NPD
wasseraufnahme
Wasserdampfdurchlassigk .
7.9 it Wasserdampfdiffusion MU 1
o Druckspanmfng Qder cs NPD
7.10 Druckfestigkeit Druckfestigkeit
Punktlast PL NPD
Dauerhattigkeit des Das Verhalten von Mineralwolle bei Brandeinwirkung verschlechtert sich nicht mit
Brandverhaltens unter der Zeit. Die Euroklassen- Einteilung des Produkts bezieht sich auf den Gehalt an
7.11 Einfluss von Wéarme, organischen Bestandteilen, der sich mit der Zeit nicht erh6ht.
Witterungseinfliissen,
Alterung/ Abbau Euroklassen Al
Die Warmeleitfahigkeit von Produkten aus
Dauerhaftigkeit des Mineralwolle verandert sich nicht mit der Zeit.
Warmedurchlasswidersta . . Erfahrungen haben gezeigt, dass die Faserstruktur
. Warmedurchlasswiderstand . . . .
ndes unter Einfluss von . o stabil bleibt und das relative Porenvolumen keine
7.12 . und Warmeleitfahigkeit ..
Warme, anderen Gase als Luft enthilt.
Witterungseinfliissen,
Alterung/ Abbau Deklarierte Werte siehe Abschnitt 6.7
Dimensionsstabilitat DS (70,-) NPD
. S Zugfestigkeit senkrecht
7.13|  Zug-/ Biegefestigkeit ugtestigkelt senxrecht zur TR NPD
Plattenebene
Dauerhaftigkeit der
Druckfestigkeit unter L it- Kri i
214 g angzeit- Kriechverhalten bei cc NPD

Einfluss von Alterung/
Abbau

Druckbeanspruchung

EN
13162:2012+A1:2015
(PN-EN
13162+A1:2015-04)

Die Leistung des vorstehenden Produkts entspricht der erklirten Leistung/den erklirten Leistungen. Fiir die Erstellung der
Leistungserkldarung im Einklang mit der Verordnung (EU) Nr. 305/2011 ist allein der obengenannte Hersteller verantwortlich.

Unterzeichnet fur den Hersteller und im Namen des Herstellers von:

Dabrowa Goérnicza

30.08.2024

Betriebstejterz "




PROHLASENI O VLASTNOSTECH
C. 48UGW37NRN19071

e
URSS

1. Jedinecny identifikacni kéd vyrobku:
DF37 MW-EN 13162-T2-MU1-AFr5
2. Urcené pouziti:
Tepelnéizolacni vyrobky pro budovy
3. Vyrobce:
URSA Polska Sp. z 0.0.
ul. Armii Krajowej 12
42-520 Dgbrowa Gérnicza
WwWw.ursa.pl
4. Zplnomocnény zastupce
Neuplatiuje se
5. Systém nebo systémy posuzovani a ovérovani stalosti vlastnosti:
Systém 3,reakce na ohen Systém 1
6. Harmonizovana norma:
EN 13162:2012+A1:2015 (PN-EN 13162+A1:2015-04)
Oznameny subjekt nebo oznamené subjekty:
¢. 672
Universitat Stuttgart fur die
Materialprifungsanstalt Universitat Stuttgart
(MPA Stuttgart, Otto-Graf-Institut, (FMPA))
7. Deklarované vlastnosti:
Harmonizovana
Zakladni charakteristika Deklarovana hodnota technicka
specifikace
7.1 Reakce na ohen Reakce na ohen Eurotiidy Al
Uvolnovani nebezpecnych Uvolfiovani neb 2nvch Harmonizovana
7.2 latek do vnitiniho vo novanll ,rlekezpecnyc metoda nebyla NPD
prostredi ate urcena
7.3 | Index zvukové pohltivosti Zvukova pohltivost AP, AW NPD
Dynamicka tuhost SD NPD EN
@ 13162:2012+A1:2015
24 Index krocejové TIOth ka, dL di NPD (PN-EN
' neprizvuénosti (u podlah) Stlacitelnost — cp NPD 13162+A1:2015-04)
Odpor proti proudéni
AFr NPD
vzduchu
Index vzduchové i éni
75 o z uv ' Odpor proti proudéni AFr > 5 kPa*s/m?
nepruzvucnosti vzduchu
Hofeni prostupujicim Harmonizovand
7.6 P Pl Hofeni prostupujicim Zhnutim metoda nebyla NPD

Zhnutim N
uréena

Deklarovany soucinitel ,
¥ Tloustka dy [mm]

Deklarovany tepelny odpor Ry

tepelné vodivosti Ap [W/m*K] [Mm2*K/W]
25 0,65
40 1,05
45 1,20
50 1,35



http://www.ursa.pl/

60 1,60
70 1,85
80 2,15
95 2,55
100 2,70
7.7 Tepelny odpor 120 3,20
0,037 140 3,75
145 3,90
150 4,05
155 4,15
160 4,30
180 4,85
195 5,25
200 5,40
220 5,90
240 6,45
250 6,75
Tloustka Tolerance tloustky T T2
Kratkodoba absorpce vody WS NPD
7.8 Propustnost vody
Dlouhodoba nasdkavost WL(P) NPD
7.9 Propustnost vodni pary Propustnost vodni pary MU 1
Napéti v tlaku nebo pevnost v cs NPD
7.10 Pevnost v tlaku tlaku
Bodové zatizeni PL NPD

Stalost reakce na ohen pfi
plsobeni tepla, vlivu
pocasi, starnuti /
degradaci

7.11

Vlastnosti reakce na oheri mineralni viny se s ¢asem nezhorsuji. Klasifikace vyrobku

na Eurotfidy se vztahuje k obsahu organickych latek, ktery se nem(ze zvysit s casem.

Eurotfida Al

Stélost tepelného odporu
7.12] pfizvySeni tepla, vlivu
pocasi, starnuti/degradaci

Tepelny odpor — soucinitel
tepelné vodivosti

V pripade vyrobku z mineralni viny se jejich tepelna
vodivost neméni, struktura vlaken je stala a pory
obsahuji pouze atmosféricky vzduch.

Prohlasené urovné viz ¢ast 6.7

Rozmérova stabilita DS (70,-) NPD
P t v tahu kolmo k
7.13| Pevnost v tahu/ohybu evnos vva u xoimo TR NPD
roviné desky
Stélost pevnosti v tlaku pfi
7.14 P P Dotvarovani tlakem cC NPD

starnuti / degradaci

EN
13162:2012+A1:2015
(PN-EN
13162+A1:2015-04)

Vlastnosti zde uvedeného vyrobku jsou ve shodé s deklarovanymi vlastnostmi. Toto prohlaseni o vlastnostech se vydava v

souladu s nafizenim (EU) €. 305/2011 na vyhradni odpovédnost zde uvedeného vyrobce.

Jménem vyrobce podepsal/a:

Dabrowa Gdrnicza

30.08.2024




VYHLASENIE O PARAMETROCH

. 48UGW37NRN19071 o
URSa
1. Jedinecny identifikacny kod typu vyrobku:
DF37 MW-EN 13162-T2-MU1-AFr5
2. Zamyslané pouizitie/pouiitia:
Tepelnoizolacné vyrobky pre budovy
3. Vyrobca:
URSA Polska Sp. z 0.0.
ul. Armii Krajowej 12
42-520 Dgbrowa Gérnicza
WwWw.ursa.pl
4. Splnomocneny zastupca
Neuplatiuje sa
5. Systém(-y) posudzovania a overovania nemennosti parametrov:
Systém 3,reakcia na ohen Systém 1
6. Harmonizovana norma:
EN 13162:2012+A1:2015 (PN-EN 13162+A1:2015-04)
Notifikovany(-é) subjekt(-y):
€. 0672
Universitat Stuttgart fur die
Materialprifungsanstalt Universitat Stuttgart
(MPA Stuttgart, Otto-Graf-Institut, (FMPA))
7. Deklarované parametre:
Harmonizovand
Zakladna charakteristika Deklarovana hodnota technicka
Specifikacia
7.1 Reakcia na ohen Reakcia na ohen Euroclass Al
Uvolfiovanie Uvolfiovanie nebezpeényich Harmonizovana
7.2 | nebezpeénych latok do oinova Ie’t ek ezpecnyc metdda nebola NPD
vnutorného prostredia ato uréena
Index zvukove;j A o,
7.3 . . Zvukova pohltivost AP, AW NPD
pohltivosti EN
Dynamicka tuhost SD NPD 13162:2012+A1:2015
Index prenosu FribKa dL m NPD (PN-EN
7.4 krokového hluku ruoxa, - 13162+A1:2015-04)
Stlacitelnost CP NPD
(pre podlahy) -
Odpor prudenia vzduchu AFr NPD
Ind duchovej i pradeni
. n ex'vz utv: ove?J Odpor proti prudeniu AFr > 5 kPa*s/m?
nepriezvucnosti vzduchu
Harmonizovand
Pokracujlce horenie Pokracujice h i
7.6 ) okracujuce horenie metdda nebola NPD

Zeravenim Zeravenim

urcena

Deklarovany sucinitel'
y Hrabka dy, [mm]

Deklarovany tepelny odpor R

tepelnej vodivosti Ay [W/m*K] [M2*K/W]
25 0,65
40 1,05
45 1,20
50 1,35

10



http://www.ursa.pl/

60 1,60
70 1,85
80 2,15
95 2,55
100 2,70
7.7 Tepelny odpor 120 3,20
0,037 140 3,75
145 3,90
150 4,05
155 4,15
160 4,30
180 4,85
195 5,25
200 5,40
220 5,90
240 6,45
250 6,75
Hrabka Tolerancia hrabky T T2
Kratkodoba absorpcia vody WS NPD
7.8 Priepustnost vody Dlhotrvajlca nasiakavost WL(P) NPD
vody
7.9 |Priepustnost vodnej pary| Priepustnost vodnej pary MU 1
’ Napatie v tlaku alebo pevnost cs NPD
7.10 Pevnost v tlaku v tlaku
Bodové zatazenie PL NPD

Trvanlivost reakcie na
ohen pri pésobeni

Poziarne vlastnosti mineralnej viny sa ¢asom nezhorsuju. Klasifikacia reakcie na ohen
(eurotrieda) sa vztahuje na organicky obsah, ktory sa nemdéze ¢asom zvysit.

7.11 .
teploty, poveternosti,
starnutia/degradacie Eurotrieda Al
Tepelna vodivost vyrobkov z mineralnej viny sa casom
o, 3 nemeni, skisenost preukazala, Ze vlaknita Struktdra je
Trvanlivost tepelného , , o B} S
. ) Tepelny odpor a tepelna stabilnd a pdry neobsahuju iné plyny okrem
odporu pri pésobeni o, e
7.12 . vodivost atmosférického vzduchu.
teploty, poveternosti,
starnutia/degradacie .
/deg Deklarované urovne, pozri ¢ast 6.7
Rozmerova stalost DS (70,-) NPD
Pevnost v tahu/pri Pevnost v tahu kolmo
7.13 /e . TR NPD
ohybe na rovinu
Trvanlivost pevnosti v
7.14 tlaku Dotvorenie stlaéenim cC NPD

pri starnuti a degradacii

EN
13162:2012+A1:2015
(PN-EN
13162+A1:2015-04)

Uvedené parametre vyrobku st v zhode so siborom deklarovanych parametrov. Toto vyhlasenie o parametroch sa v sulade s
nariadenim (EU) €. 305/2011 vydava na vyhradnt zodpovednost uvedeného vyrobcu.

Podpisal(-a) za a v mene vyrobcu:

Dagbrowa Goérnicza

30.08.2024

11

Generdlny Haditel /7, A

el Bedkowsh




DECLARATION DES PERFORMANCES

o

n

48UGW37NRN19071

e
LIRS

1. Code d’identification unique du produit type:
DF37 MW-EN 13162-T2-MU1-AFr5
2. Usage(s) prévu(s):
Isolation thermique du batiment
3. Fabricant:
URSA Polska Sp. z 0.0.
ul. Armii Krajowej 12
42-520 Dgbrowa Goérnicza
www.ursa.pl
4. Mandataire
Sans objet
5. Systeme(s) d’évaluation et de vérification de la constance des performances:
Systéme 3, réaction au feu Systéme 1
6. Norme harmonisée:
EN 13162:2012+A1:2015 (PN-EN 13162+A1:2015-04)
Organisme(s) notifié(s):
n° 0672
Universitat Stuttgart fir die
Materialprifungsanstalt Universitat Stuttgart
(MPA Stuttgart, Otto-Graf-Institut, (FMPA))
7. Performance(s) déclarée(s):
Spécification
Caractéristiques essentielles Performances technique
harmonisée
7.1 Réaction au feu Réaction au feu Euroclasses Al
Emissions de substances L Méthode harmonisée
T Emissions de substances , L
7.2 | dangereuses a I'intérieur n’a pas été NPD
. dangereuses , .
des batiments déterminée
Indice d’absorption . .
7.3 . Absorption acoustique AP, AW NPD
acoustique EN
. L. Raideur dynamique SD NPD 13162:2012+A1:2015
Indice de transmission -
74 | des bruits d' "y Epaisseur, dL dL NPD (PN-EN
. es bruits d’impact (pour 12015-
pactip Compressibilité cp NPD 13162+A1:2015-04)
les sols)
Résistance au flux d’air AFr NPD
Indice d’isolement aux
7.5 . L. . Résistance au flux d’air AFr > 5 kPa*s/m?
bruits aériens directs
. . Méthode harmonisée
Combustion avec Combustion avec .,
7.6 n’a pas été NPD

incandescence continue

incandescence continue

déterminée

Conductivité thermique AD

épaisseur dy [mm]

Résistance thermique

[W/m*K] RD [m2*K/W
25 0,65
40 1,05
45 1,20
50 1,35
60 1,60
70 1,85
80 2,15
95 2,55

12



http://www.ursa.pl/

100 2,70
120 3,20
7.7 | Résistance thermique 0,037 140 3,75
145 3,90
150 4,05
155 4,15
160 4,30
180 4,85
195 5,25
200 5,40
220 5,90
240 6,45
250 6,75
Epaisseur Tolérance d’épaisseur T T2
Absorption d’eau a court WS NPD
7.8 Perméabilité a I'eau Along te:rir?aebsorption
WL(P) NPD
d’eau
7.9 | Perméabilité a la vapeur | Transmission de vapeur MU 1
210 Résista nce.é la Force deccc’?nn';;r)zssisvl:n/Force cs NPD
compression
Charge ponctuelle PL NPD
Durabilite de la reaction | Les performances de reaction au feu pour les produits de laine minérale ne
au feu par rapport a se détériorent pas avec le temps. La classification du produit selon
211 I’exposition a la chaleur |Euroclasse est liée au contenu organique qui ne peut pas augmenter au fil de

ou aux intempéries, au
vieillissement/a la
dégradation

temps.

Euroclasse Al

7.12

Durabilité de la résistance
thermique a la chaleur,
aux intempéries, a l'usure
/ la dégradation

Résistance thermique -
conductivité thermique

La conductivité thermique des produits en laine
minérale ne change pas avec le temps.
L’expérience a montré que la structure fibreuse
est stable et que la porosité ne contient pas
d’autre gaz que I'air de I'atmosphere

Niveaux déclarés, voir section 6.7

Caractéristiques de durabilité DS (70,-) NPD
Résistance a la Résistance a la traction
7.13 . . . . TR NPD
traction/flexion perpendiculaire aux faces
Durabilite de la resistance
a la compression par
7.14 rapport au Fluage en compression cC NPD

vieillissement/a la
dégradation

EN
13162:2012+A1:2015
(PN-EN
13162+A1:2015-04)

Signé pour le fabricant et en son nom:

Dagbrowa Goérnicza

Directeur de I'établisse

30.08.2024

13

Les performances du produit identifié ci-dessus sont conformes a I’ensemble des performances déclarées. La présente
déclaration de performances est délivrée conformément au réglement (UE) n° 305/2011 cniic Ia racnnncahilits
exclusive du fabricant identifié ci-dessus.




YDEEVNEDEKLARATION

Ne;j. 48UGW37NRN19071 m
1. Varetypens unikke identifikationskode: URSa
DF37 MW-EN 13162-T2-MU1-AFr5
2. Tilsigtet anvendelse eller anvendelser:
Varmeisolering til byggeri
3. Fabrikant:
URSA Polska Sp. z 0.0.
ul. Armii Krajowej 12
42-520 Dgbrowa Goérnicza
www.ursa.pl
4. Repraesentant
Ikke relevant
5. System(er) til vurdering og kontrol af ydeevnens konstans:
System 3, reaktion ved brand System 1
6. Harmoniseret standard:
EN 13162:2012+A1:2015 (PN-EN 13162+A1:2015-04)
Notificeret organ/notificerede organer:
Nej. 0672
Universitat Stuttgart fir die
Materialprifungsanstalt Universitat Stuttgart
(MPA Stuttgart, Otto-Graf-Institut, (FMPA))
7. Deklareret ydeevnevaerdier:
Harmoniserede
Grundlzaeggende karakteristik Verdi tekniske
specifikationer
7.1 Reaktion ved brand Reaktion ved brand Euroklasser Al
- . Harmoniseret
7.2 Frlglvells'e af farllg.e.stoffer Frigivelse af farlige stoffer metode NPD
til internt miljg . .
findes ikke.
7.3 | Lydabsorbtions koefficient Lydabsorbtion AP, AW NPD
Dynamisk stivhed SD NPD
24 Isoleringskoefficient mod " Tykkellse di di NPD
. stadlyde (gulve) ompressmnsevn.e CP NPD
Luftgennemstrgmnings AFr NPD
modstand
Isoleringskoefficient mod Luftgennemstramnings
7.5 | direkte transmitterede AFr > 5 kPa*s/m? EN
modstand 13162:2012+A1:201
luftlyde : 5 (PN-EN
Kontinuerlig fyring i form | Kontinuerlig fyring i form Harmoniseret 13162+A1:2015-04)
e af glgdning af glgdning metode NPD
findes ikke.
Varmeledningsevne A Deklareret
W/m*K] P |Tykkelse dy [mm]| varmemodstand R,
[m2*K/W]
25 0,65
40 1,05
7.7 Varmemodstand 45 1,20
0,037 50 1,35
60 1,60
70 1,85

14



http://www.ursa.pl/

80 2,15
Varmeledningsevne A, Deklareret
(W/m*K] Tykkelse dy [mm]| varmemodstand Rj
[MZ*K/W]
95 2,55
100 2,70
120 3,20
140 3,75
145 3,90
150 4,05
7.7 Varmemodstand 0,037 155 4,15
160 4,30
180 4,85
195 5,25
200 5,40
220 5,90
240 6,45
250 6,75
Tykkelse Tykkelses T
tolerance T
- Vandpermeabilitet Kortvarig vandabsorption WS NPD
Langtids vandoptagelse WL(P) NPD EN
13162:2012+A1:201
7.9 | Vanddamp permeabilitet Vanddampdiffusion MU 1 5 (PN-EN
Trykspaendinger eller cs NPD 13162+A1:2015-04)
7.10 Trykstyrke traekstyrke
Punktbelastning PL NPD

Holdbarhed af reaktion
ved brand over for varme,

De brandmaessige egenskaber af mineraluld forringes ikke med

tiden ved pavirkning af hgj temperatur. Euroklasse Klassificeringen

7.11 . ) af produktet er relateret til det organiske indhold, der forbliver
vejrforhold, &ldning/ .
nedbrvdnin konstant eller aftager ved hgje temperaturer.
y & Euroklasse Al
Varmeledningsevnen af mineraluld
produkter aendres ikke med tiden,
Holdbarhed af termisk Varmemodstand — erfaringer har vist, at fiberstrukturen er
712 modstand mod varme, | valmeledningskoefficient | stabil og at porgsiteten ikke indeholder
' vejrforhold, seldning/ andre gasser end atmosfaerisk luft.
nedbrydning Deklarerede vaerdier — se punkt 6.7
Holdbarhed af egenskaber DS (70,-) NPD
Bestandighed mod lodret
7.13| Traek-/ bgjningsstyrke traekstyrke over for TR NPD
frontale overflader
Trykevnes bestandighed
7.14 y & Krybning ved kompression CcC NPD

ved &ldning/ nedbrydning

Ydeevnen for den vare, der er anfgrt ovenfor, er i overensstemmelse med den deklarerede ydeevne.
Denne ydeevnedeklaration er udarbejdet i overensstemmelse med forordning (EU) nr. 305/2011 pa eneansvar
af den fabrikant, der er anfgrt ovenfor.

Underskrevet for fabrikanten og pa dennes vegne af:

Dagbrowa Goérnicza

30.08.2024

15

Vaerkleder:. -
’de 7

Sp.Z O
V. /
A

akiad




YTELSESERKLARING

Nei. 48UGW37NRN19071 e
URSa
1. Unik identifikasjonskode av produktet-typen:
DF37 MW-EN 13162-T2-MU1-AFr5
2. Planlagt bruk:
Varmeisolering i byggebransjen
3. Produsent:
URSA Polska Sp. z 0.0.
ul. Armii Krajowej 12
42-520 Dgbrowa Goérnicza
www.ursa.pl
4. Autorisert representant
Ikke aktuelt
5. System(er) av AVCP:
Sistema 3,reaksjon pa brann Sistema 1
6. Harmonisert standard:
EN 13162:2012+A1:2015 (PN-EN 13162+A1:2015-04)
Teknisk kontrollorgan(er):
Nei 0672
Universitat Stuttgart fir die
Materialprifungsanstalt Universitat Stuttgart
(MPA Stuttgart, Otto-Graf-Institut, (FMPA))
7. Oppgitt ytelse(r):
Harmonisert
Grunnleggende beskrivelse Oppfyllelse teknisk
spesifikasjon
7.1 Reaksjon pa brann Reaksjon pa brann Euroklasser Al
Utslipp av farlige stoffer til H isert metod
7.2 pp. g Utslipp av farlige stoffer armonlser r':me oae NPD
innemiljget ikke fastlatt
7.3 | Indeks for lydabsorpsjon Lydabsorpsjon AP, AW NPD
EN
Dynamisk stivhet SD NPD 13162:2012+A1:2015
24 Indeks for isoleringsevne Tykkelse dL dL NPD (PN-EN
' mot slaglyd (for gulv) Kompressibilitet cp NPD 13162+A1:2015-04)
Luftmotstand AFr NPD
Indeks for isolering mot .2
7.5 . Luftmotstand AFr > 5 kPa*s/m
direkte overfgrte luftlyder
26 Konstant forbrenning i Konstant forbrenning i form | Harmonisert metode NPD
' form av glgding av glgding ikke fastlatt
Termisk ledningsevne Ap Tykkelse dy, [mm] Termisk 2motstand Rp
[W/m*K] [M2*K/W]
25 0,65
40 1,05
45 1,20
50 1,35
60 1,60
70 1,85

16



http://www.ursa.pl/

80 2,15
95 2,55
100 2,70
27 y q 120 3,20
. armemotstan
emo 0,037 140 3,75
145 3,90
150 4,05
155 4,15
160 4,30
180 4,85
195 5,25
200 5,40
220 5,90
240 6,45
250 6,75
Tykkelse Tykkelsestoleransen T T2
. . Kortsiktig vannabsorpsjon WS NPD
7.8 | Vanngjennomtrengelighet — -
Langsiktig vannabsorpsjon WL(P) NPD
Vanndampgjennomtrengeli . .
7.9 Vanndampgjennomtrenging MU 1
ghet
. KompreSJorlsspennlng eller cs NPD
7.10| Kompresjonsmotstand kompresjonsmotstand
Punktbelastning PL NPD
. . . |Bruksegenskaper tilknyttet ,,reaksjon pa brann” for varer laget av mineralull blir ikke
Varighet av reaksjon pa . e . . .
verre med tiden. Varens klassifisering etter Euroklassene er tilknyttet innhold av
brann ved varme, . . .
7.11 . organiske deler, som ikke kan gke med tiden.
atmosfaeriske forhold,
aldring/slitasje
g/ ) Euroklasse Al
Koeffisient for termisk konduktivitet forandrer seg
Varighet av ikke med tiden. | et eksperiment ble stabilitet av
varmemotstand ved varme,| Varmemotstand — koeffisient | fiberstrukturen pavist, og porene inneholder ingen
7.12] atmosfeeriske forhold, for termisk konduktivitet andre gasser enn atmosfeereluft.
aldring/slitasje
Deklarerte nivaer, se seksjon 6.7
Dimensjonsstabilitet DS (70,-) NPD
Motstandsdyktighet mot
7.13| Strekk-/bgyemotstand strekking vinkelrett til TR NPD
frontale overflater
Varighet av
7.14 | kompresjonsmotstand ved Kryp under kompresjon cC NPD

aldring/slitasje

EN
13162:2012+A1:2015
(PN-EN
13162+A1:2015-04)

Ytelsen til produktet som er identifisert ovenfor er i samsvar med de(n) erkleerte ytelsen(e). Denne ytelseserklzaeringen er
utstedt i samsvar med forordning (EF) nr 305/2011, under ansvaret til produsent identifisert ovenfor.

Signert for og pa vegne av produsenten av:

Dabrowa Gdrnicza

30.08.2024

17

' j,jkkdirekt(ar




PRESTANDADEKLARATION
Nej. 48UGW37NRN19071

e
URSS

1. Produkttypens unika identifikationskod:
DF37 MW-EN 13162-T2-MU1-AFr5
2. Avsedd anvidndning/avsedda anvindningar:
Varmeisolering i byggnader
3. Tillverkare:
URSA Polska Sp. z 0.0.
ul. Armii Krajowej 12
42-520 Dgbrowa Gérnicza
www.ursa.pl
4. Auktoriserad representant
Ej tillampligt
5. System for bedémning och fortlopande kontroll av prestanda:
Systemet 3, reaktion vid brandpaverkan Systemet 1
6. Harmoniserad standard
EN 13162:2012+A1:2015 (PN-EN 13162+A1:2015-04)
Anmailt/anmalda organ
Nej 0672
Universitat Stuttgart fir die
Materialprifungsanstalt Universitat Stuttgart
(MPA Stuttgart, Otto-Graf-Institut, (FMPA))
7. Angiven prestanda:
Harmoniserad
Grundlaggande egenskaper Uppfyllnad teknisk
specifikation
Reaktion vid . . .
7.1 . Reaktion vid brandpaverkan Euroklasser Al
brandpaverkan
- _— Den harmoniserade
Utslapp av farliga amnen . L ]
7.2 . e Utslapp av farliga amnen metoden har inte NPD
till inomhusmiljén .
faststallts
7.3 | Ljudabsorptionskoefficient Ljudabsorption AP, AW NPD
EN
Dynamisk styvhet SD NPD 13162:2012+A1:2015
- Indikator for Tjocklek dL dL NPD (PN-EN
* |stegljudsisolering (fér golv) Kompressibilitet Ccp NPD 13162+A1:2015-04)
Motstandsniva for luftflode AFr NPD
Indikator for
7.5 luftljudsisolering av ljud Motstandsniva for luftflode AFr > 5 kPa*s/m?
som Overfors direkt
Den harmoniserade
Konti lie alédand . S
26 ontinuerlig glodande Kontinuerlig glédande metoden har inte NPD

forbranning

forbranning

faststallts

Varmeledningsformaga A,

Tjocklek dy [mm]

Termisk resistans Ry

[W/m*K] [mZ*K/W]
25 0,65
40 1,05
45 1,20
50 1,35

18



http://www.ursa.pl/

60 1,60
70 1,85
80 2,15
95 2,55
100 2,70
7.7 Varmemotstand 120 3,20
0,037 140 3,75
145 3,90
150 4,05
155 4,15
160 4,30
180 4,85
195 5,25
200 5,40
220 5,90
240 6,45
250 6,75 EN
Tjocklek Tjocklekstolerans T T2 1315212;);2;3112015
78 | Vattengenomslapplighet Kratkorocna absorpcija vode WS NPD 13162£A1:2015—04)
Langsiktig vattenabsorption WL(P) NPD
7.9 Anggenomslapplighet Permeabilitet for vattenanga MU 1
] Tryckspanning eller cs NPD
7.10 Tryckhallfasthet tryckhallfasthet
Punktlast PL NPD
Hallbarhet vid Prestanda for mineralullsprodukter med hansyn till reaktion vid brandpaverkan
brandpaverkan som en forsamras inte 6ver tid. Klassificering av produkten enligt euroklasser ar
7.11 funktion av forknippad med innehallet av organiskt material som inte kan 6ka 6ver tid.
varme,vaderfarhallanden,
aldring/ nedbrytning Euroklasse Al
Termisk konduktivitet for mineralullsprodukter
Hallbarhet av forandras inte Over tid. Testet har visat stabiliteten
varmemotstand som en Varmemotstand— termisk av fiberstruktur och porerna innehaller ingen
7.12 funktion av konduktivitet annan gas an atmosfarisk luft.
varme,vaderforhallanden,
aldring/ nedbrytning Deklarerade nivaer, se avsnitt 6.7
Dimensionsstabilitet DS (70,-) NPD
713 Dr?ghoéllfasthet Draghallfasthet vinkelrat R NPD
/bojhallfasthet mot ytorna
Tryckhallfasthet som en
7.14 funktion av aldring Tryckkrypning CcC NPD
/nedbrytning

Prestandan for ovanstaende produkt dverensstimmer med den angivna prestandan. Denna prestandadeklaration har
utfirdats i enlighet med férordning (EU) nr 305/2011 pa eget ansvar av den tillverkare som ange:

Chefen for a}tggh

Undertecknad pa tillverkarens vagnar av: m'gen

Dagbrowa Gérnicza  30.08.2024

19



EKSPLOATACINIY SAVYBIU DEKLARACIJA

Ne. 48UGW37NRN19071
Produkto tipo unikalus identifikavimo kodas:
DF37 MW-EN 13162-T2-MU1-AFr5

Naudojimo paskirtis (-ys):

Siluminé izoliacija statybose
Gamintojas:

URSA Polska Sp. z 0.0.

ul. Armii Krajowej 12

42-520 Dgbrowa Goérnicza

www.ursa.pl
Jgaliotasis atstovas

Netaikoma

Eksploataciniy savybiy pastovumo vertinimo ir tikrinimo sistema (-os):
Sistema 3,reakcija j ugnj Sistema 1

Darnusis standartas:

EN 13162:2012+A1:2015 (PN-EN 13162+A1:2015-04)
Notifikuotoji (-osios) jstaiga (-os):

Ne. 0672

Universitat Stuttgart fir die

Materialprifungsanstalt Universitat Stuttgart

(MPA Stuttgart, Otto-Graf-Institut, (FMPA))

e
YRS

7. Deklaruojama (-os) eksploataciné (-és) savybé (-és):
Suderinta
Pagrindiné savybé Tenkinimas techniné
specifikacija
7.1 Reakcija j ugnj Reakcija j ugnj Euroklasés Al
- Pavojingy medziagy Pavojingy medziagy Suderintas metodas NPD
' iSleidimas j vidaus aplinka iSleidimas neapibréztas
Garso sugerties .
7.3 - Garso sugertis AP, AW NPD
koeficientas
EN
Dinaminis standumas SD NPD
Mugamujy garsy (grindy : 13162:2012+A1:2015
7.4 atveju) izoliavimo Storis, dL dL NPD (PN-EN
' ! . SuspaudZiamumas CcpP NPD 13162+A1:2015-04)
koeficientas
Oro srauto pasipriesinimas AFr NPD
Tiesioginiu budu
7.5 perneSamy oro garsy Oro srauto pasiprieSinimas AFr > 5 kPa*s/m?
izoliavimo koeficientas
26 Nuolatinis degimas Nuolatinis degimas Svytincio | Suderintas metodas NPD

Svytincio degimo forma

degimo forma

neapibréztas

Silumos laidumas A [W/m*K]

Storis dyy [mm]

Siluminé varfa Rp [m?*K/W]

25 0,65
40 1,05
45 1,20
50 1,35
60 1,60
70 1,85

20



http://www.ursa.pl/

80 2,15
95 2,55
100 2,70
7.7 Silumine varza 120 3,20
. iluminé varz
0,037 140 3,75
145 3,90
150 4,05
155 4,15
160 4,30
180 4,85
195 5,25
200 5,40
220 5,90
240 6,45
250 6,75
Storis Storio nuokrypis T T2
Ilulllpildll\s \ffﬂllUCllb WS NPD
7.8 Vandens pralaidumas . .
llgalaikis vandens sugérimas WL(P) NPD
. Vandens gary
7.9 | Vandens gary pralaidumas . . MU 1
prasiskverbimas
o Gniuzdomasis 1temp|s.arb'a cs NPD
7.10| Atsparumas suspaudimui atsparumas suspaudimui
Kravis PL NPD
Reakcijos j ugn) IS mineralines vatos pagaminty gaminiy reakcijos J ugnj eksploatacines savybes
patvarumas Silumos nekinta laike. Gaminio klasifikavimas pagal Euroklas siejasi su organiniy daleliy
7.11| funkcijos, atmosferiniy kiekiu, kuris negali ateityje didéti
salygy,
senéjimo/degradavimo Euroklasé Al
.. L . IS mineralinés vatos pagaminty gaminiy Silumos
Siluminés varZos . - . . -
. pralaidumo koeficientas nekinta laike. Patirtis
patvarumas Silumos .. .. .. .. _ s Y
. . Siluminé varia —Silumos  |parodé, jog audiniy struktdra yra stabili, o plySeliuose
funkcijos, atmosferiniy . . . . . . . .
7.12 pralaidumo koeficientas néra kitokiy dujy nei atmosferoje esantis oras.
salygy,
senéjimo/degradavimo ‘ .
jimo/ .g. Deklaruojami lygiai, Zr. 6.7 skyriy
atvejais
Dydzio stabilumas DS (70,-) NPD
At i
Atsparumas sp?aru.rr?as .terhp?lant
7.13 . . vertikaliai priekiniams TR NPD
tempimui/sulankstymui o
pavirSiams
Atsparumas spaudimui
7.14| senéjimo/degradavimo Tamprumas spaudZiant cC NPD

funkcijy atveju

EN
13162:2012+A1:2015
(PN-EN
13162+A1:2015-04)

Pasirasyta (gamintojo ir jo vardu):

Nurodyto produkto eksploatacinés savybés atitinka visas deklaruotas eksploatacines savybes. Si eksploataciniy savybiy
deklaracija pateikiama vadovaujantis Reglamentu (ES) Nr. 305/2011, atsakomybé uz jos turinj tenka tik joje nurodytam

gamintoiui.

Dabrowa Gdrnicza

30.08.2024

21

RS/ ’;,."/} (:1,',".‘/‘ 0.0
Jmonés diréktorius:




Ei.

SUORITUSTASOILMOITUS
48UGW37NRN19071

e
URSE

1. Tuotetyypin yksil6llinen tunniste:
DF37 MW-EN 13162-T2-MU1-AFr5
2. Aiottu kayttotarkoitus (aiotut kdyttotarkoitukset):
Rakennusten lampGéeriste
3. Valmistaja:
URSA Polska Sp. z 0.0.
ul. Armii Krajowej 12
42-520 Dgbrowa Goérnicza
www.ursa.pl
4. Valtuutettu edustaja
Ei sovellettavissa
5. Suoritustason pysyvyyden arvioinnissa ja varmentamisessa kaytetty jarjestelméa/kédytetyt jarjestelmét:
Jarjestelma 3,palotekninen kayttaytyminen Jarjestelma 1
6. Yhdenmukaistettu standardi:
EN 13162:2012+A1:2015 (PN-EN 13162+A1:2015-04)
limoitettu laitos/ilmoitetut laitokset:
Ei. 0672
Universitat Stuttgart fir die
Materialprifungsanstalt Universitat Stuttgart
(MPA Stuttgart, Otto-Graf-Institut, (FMPA))
7. llmoitettu suoritustaso/ilmoitetut suoritustasot:
Yhdenmukaistett
Peruskuvaus Tayttaminen u tekninen
spesifikaatio
Palotekninen . T .
7.1 I . Palotekninen kadyttaytyminen Euroluokat Al
kayttaytyminen
. L Yhdenmukaistettua
Vaarallisten aineiden . Lo L o
7.2 e e sl el Vaarallisten aineiden padstét| menetelmaa eiole NPD
padstot sisatiloihin o
madritelty
7.3 | Aanen absorptiokerroin Aznen absorptio AP, AW NPD
EN
Dynaaminen jaykkyys SD NPD 13162:2012+A1:2015
v . . (PN-EN
D
24 Iskuddnten e.rllstyskerrom Paksuus, dL dL NP 13162+A1:2015-04)
(lattioille) Kokoonpuristuvuus CP NPD
IiIman lapivirtausvastus AFr NPD
Valittomien ilmaaanten o " ,
7.5 I . lIman lapivirtausvastus AFr >5 kPa*s/m
eristavyyskerroin
. . Yhdenmukaistettua
Jatkuva palaminen Jatkuva palaminen e
7.6 menetelmaa ei ole NPD

hehkuvassa muodossa

hehkuvassa muodossa

madritelty
Lammonjohtokyky Ap Paksuus dy [mm] Lammonkestavyysi Rp
[W/m*K] [m2*K/W]
25 0,65
40 1,05
45 1,20
50 1,35
60 1,60

22



http://www.ursa.pl/

70 1,85
80 2,15
95 2,55
100 2,70
w L . 120 3,20
7.7 Lampadresistanssi 0,037 140 375
145 3,90
150 4,05
155 4,15
160 4,30
180 4,85
195 5,25
200 5,40
220 5,90
240 6,45
250 6,75
Paksuus Paksuus toleranssi T T2
LyIIYLdII\TIIIC.II vVEUCTI WS NPD
7.8 Vedenlapaisevyys P|tka.1a|ka|r.1en veden WL(P) NPD
imemiskyky
7.9 Vesihoyryn lapaisevyys Vesihoéyryn tunkeutuminen MU 1
' . Pu ristgsjénnitys tai cs NPD
7.10 Puristuslujuus puristuslujuus
Pistekuormitus PL NPD
Palotekninen kestavyys | Mineraalivillatuotteiden paloteknisen kayttaytymisen ominaisuudet eivat huonone
[ammaon, ilmasto- ajan kuluessa. Euroluokan mukainen tuoteluokitus liittyy orgaanisten osien
7.11 olosuhteiden seka sisaltoon, jotka eivat saa lisdantya ajan kuluessa.

vanhenemisen/hajoamisen
funktiona

Euroluokan Al

Lammoneristavyyden
pysyvyys [dmmon, ilmasto-

Lammaodneristavyys -

Mineraalivillatuotteiden lammonjohtavuuskerroin el
muutu ajan kuluessa. Kokemus on osoittanut
kuitujen stabiilisuuden ja huokoset eivat sisalla muita

7.12 olosuhteiden seka [ammdnjohtavuuskerroin kaasuja kuin ilmaa.
ikdantymisen/hajoamisen
funktiona IImoitetut tasot, katso kohta 6.7
Mittojen pysyvyys DS (70,-) NPD
7.13 Veto- /taivutuslujuus Vetolujuus k.ohtlsuoraan TR NPD
otsapintaan
Puristuslujuuden pysyvyys
7.14|vanhenemisen/hajoamisen Puristushiipuma CcC NPD
funktiona

EN
13162:2012+A1:2015
(PN-EN
13162+A1:2015-04)

Edelld yksiloidyn tuotteen suoritustaso on ilmoitettujen suoritustasojen joukon mukainen. Tima suoritustasoilmoitus on
asetuksen (EU) N:o 305/2011 mukaisesti annettu edelld ilmoitetun valmistajan yksinomaisella vastuulla.

Valmistajan puolesta allekirjoittanut:

Dabrowa Gdrnicza

Tehtaanjohta'j'a‘ Z//

30.08.2024

23




EKSPLUATACIJAS IPASIBU DEKLARACIJA
Né. 48UGW37NRN19071

e
URS3

1. Unikalais izstradajuma tipa identifikacijas numurs:
DF37 MW-EN 13162-T2-MU1-AFr5
2. Paredzétais izmantojums:
Siltumizolacija bdvnieciba
3. RaZotajs:
URSA Polska Sp. z 0.0.
ul. Armii Krajowej 12
42-520 Dgbrowa Gérnicza
WwWw.ursa.pl
4. Pilnvarotais parstavis
Nav piemérojams
5. Ekspluatacijas ipasibu noturibas novértéjuma un parbaudes (AVCP) sistéma(-as):
Sistéma 3,pamata raksturlielumi Sistéma 1
6. Saskanotais standarts:
EN 13162:2012+A1:2015 (PN-EN 13162+A1:2015-04)
Pazinota(-as) iestade(-es):
Né. 0672
Universitat Stuttgart fur die
Materialprifungsanstalt Universitat Stuttgart
(MPA Stuttgart, Otto-Graf-Institut, (FMPA))
7. Deklaréta(-as) ekspluatacijas ipasiba(-as):
Saskanota
Pamata raksturlielumi Izpilde tehniska
specifikacija
7.1 Degamiba Degamiba Eiroklases Al
Bistamo vielu izdaliSanas _ e L Saskanosanas metode
7.2 _ e Bistamo vielu izdal$anas ’ . NPD
ékas ieksiené nav noteikta
Skanu absorbésanas .
7.3 . Skanu absorbésana AP, AW NPD
koeficients
Dinamiska stingriba SD NPD EN
o m m NPD 13162:2012+A1:2015
74 Trieciena trok3na |ez.urvns, - (PN-EN
. parvaditana (gridam) Saspiezamiba cp NPD 13162+A1:2015-04)
Pretestiba gaisa caurlaidibai AFr NPD
7.5 | lzolacija no gaisa trokSna | Pretestiba gaisa caurlaidibai AFr > 5 kPa*s/m?
26 Nepartraukta sadegsSana Nepartraukta sadegSana |SaskanoSanas metode NPD

kvéles veida kvéles veida nav noteikta

Siltumvaditspéja A\, [W/m*K] Biezums dy [mm]

Termiska pretestiba Rp

[mZ*K/W]
25 0,65
40 1,05
45 1,20
50 1,35
60 1,60
70 1,85

24



http://www.ursa.pl/

80 2,15
95 2,55
100 2,70
7.7 Termiska pretestiba 120 3,20
0,037 140 3,75
145 3,90
150 4,05
155 4,15
160 4,30
180 4,85
195 5,25
200 5,40
220 5,90
240 6,45
250 6,75
Biezums Biezuma pielaide T T2
_ . Istermina Gdens absorbcija WS NPD
7.8 Udens caurlaidiba — — J
llgtermina Gdens uzsiksana WL(P) NPD
7.9 Udens tvaika caurlaidiba Ttvaika caurlaidiba MU 1
. o Spiedes spr'legutns vai spiedes cs NPD
7.10 Spiedes izturiba izturiba
Koncentréta slodze PL NPD
- . Mineralvates izstradajumu reakcijas uz uguni patérina 1pasibas laika gaita
Degamibas saglabasana e = - e v - . s -
_ nepasliktinas. lzstradajuma klasificéSana saskana ar eiroklasi saistita ar sastava
sakarstot, atmosféras Y. .. . . . .
7.11 iedarbib3 esoSajiem organiskajiem komponentiem, kuru daudzums laika gaita pieaugt nevar
novecojot/nodilstot
jot/ Eiroklase Al
Mineralvates izstradajumu silituma vadamibas
koeficients laika gaita nemainas. lzméginajumos
Termiskas pretestibas L _ . uzradita Skiedru struktdras stabilitate, savukart
. Termiska pretestiba — siltuma - - o _
saglabasana sakarstot, o . poras nav nekadu citu gazu, iznemot atmosféras
7.12 o o vadamibas koeficients .
atmosféras iedarbiba, gaisu
novecojot/nodilstot
Deklaréto limeni skatit apaksSounktd 6.7
Izméru stabilitate DS (70,-) NPD
Stiepes izturiba
7.13 Stiepes/lieces izturiba perpendikulari plaksnes TR NPD
plakneii
Spiedes izturibas
7.14 saglabasana, Stiepes s|lde cC NPD
novecojot/nodilstot

EN
13162:2012+A1:2015
(PN-EN
13162+A1:2015-04)

Parakstits raZotaja varda:

Dagbrowa Gdrnicza

RSA P
Ripnicas direktorg#
30.08.2024 P

25

leprieks noradita izstradajuma ekspluatacijas Tpasibas atbilst deklaréto ekspluatacijas Tpastbu kopumam. 31 ekspluatacijas
Tpasibu deklaracija izdota saskana ar Regulu (ES) Nr. 305/2011, un par to ir atbildigs vienigi ieprieks noraditais raZotais.




TOIMIVUSDEKLARATSIOON
Ei. 48UGW37NRN19071

Tootetiilibi kordumatu identifitseerimiskood:
DF37 MW-EN 13162-T2-MU1-AFr5

Kavandatud kasutusala(d):
Ehitussoojusisolatsioon

Tootja:
URSA Polska Sp. z 0.0.
ul. Armii Krajowej 12
42-520 Dgbrowa Gérnicza
www.ursa.pl

Volitatud esindaja
Ei kohaldata

Toimivuse piisivuse hindamise ja kontrolli siisteem
Siisteem 3, p&levus Sisteem 1

Uhtlustatud standard:

EN 13162:2012+A1:2015 (PN-EN 13162+A1:2015-04)
Teavitatud asutus(ed):

Ei. 0672

Universitat Stuttgart fir die

Materialprifungsanstalt Universitat Stuttgart

(MPA Stuttgart, Otto-Graf-Institut, (FMPA))

o
URSa

7. Deklareeritud toimivus:
Uhtlustatud
Pdhiomadused Taitmine tehniline
spetsifikatsioon
7.1 PGlevus Polevus Euroklassid Al
Ohtlike ainete eraldamine Uhtlustamismeetod
7.2 . Ohtlike ainete eraldamine . NPD
ehitises maaramata
7.3 Helineelduvustegur Helineelduvus AP, AW NPD
EN
Dinaamiline jdikus SD NPD 13162:2012+A1:2015
24 Lo6gimira tlekanne Paksus, dL dL NPD (PN-EN
. (pSrandatele) Kokkusurutavus CP NPD 13162+A1:2015-04)
Ohu labilaskvuse takistus AFr NPD
7.5 Ohumiiraisolatsioon Ohu labilaskvuse takistus AFr > 5 kPa*s/m?
) o . Uhtlustami tod
7.6 Pidev hddguv pdlemine Pidev hddguv pdlemine usramismeeto NPD

maadramata

Soojusjuhtivus Ap [W/m*K]

Paksus dy [mm]

Termiline takistus Ry

25 0,65
40 1,05
45 1,20
50 1,35
60 1,60
70 1,85

26



http://www.ursa.pl/

80 2,15
95 2,55
100 2,70
120 3,20
7.7 Soojatakistus 0,037 140 3,75
145 3,90
150 4,05
155 4,15
160 4,30
180 4,85
195 5,25
200 5,40
220 5,90
240 6,45
250 6,75
Paksus Paksus sallivus T T2
Luhiajaline veeimavus WS NPD
7.8 Vee ldbilaskmine L
Pikaajaline imenduvus veega WL(P) NPD
7.9 Veeauru ldbilaskmine Veeauruldbivus MU 1
Survepinge vdi survetugevus Cs NPD
7.10 Survetugevus ping g
Koondkoormus PL NPD
~ ale Mineraalvilltoodete tuletundlikkuse tarbimisomadused ei halvene aja jooksul.
Pdlevuse sdilimine . . . .. . .
. Toote liigitus euroklassi alusel on seotud orgaaniliste koostisainete sisaldusega, mis
kuumenemisel, . L
7.111 . o . ei saa aja jooksul suureneda.
ilmastikutingimuste majul,
vananemisel/kulumisel
/ Euroklassi Al
Mineraalvilltoote soojajuhtivustegur ei muutu aja
Soojatakistuse sdilimine . ) jooksul. Katsed naitasid kiudude struktuuri pisivust,
. Soojatakistus — . . .
kuumenemisel, B poorid aga ei sisalda muid gaase peale
7.12] . L . soojajuhtivustegur R
ilmastikutingimuste majul, atmosfaariéhu.
vananemisel/kulumisel Deklareeritud tasemed vt 10ik 6.7
M&Gtmete pisivus DS (70,-) NPD
" . Tombetugevus risti plaadi
7.13| T&mbe-/paindetugevus . TR NPD
tasapinnaga
Survetugevuse sailimine .
7.14 . . Roomavus kokkusurumisel CcC NPD
vananemisel/kulumisel

EN
13162:2012+A1:2015
(PN-EN
13162+A1:2015-04)

Eespool kirjeldatud toote toimivus vastab deklareeritud toimivusele. Kaesolev toimivusdeklaratsioon on vilja antud kooskélas
madrusega (EL) nr 305/2011 eespool nimetatud tootja ainuvastutusel.

Tootja poolt ja nimel allkirjastanud:

Dabrowa Gdrnicza

Tehase direktor: |

30.08.2024

27




TELJESITMENYNYILATKOZAT

Nem.

48UGW37NRN19071

(e
URSa

1. Aterméktipus egyedi azonosito kddja:
DF37 MW-EN 13162-T2-MU1-AFr5
2. Felhasznalas célja(i):
EpitSipari hGszigetelés
3. Gyarto:
URSA Polska Sp. z 0.0.
ul. Armii Krajowej 12
42-520 Dgbrowa Gérnicza
WwWw.ursa.pl
4. Meghatalmazott képvisel6
Nem alkalmazhaté
5. Az AVCP-rendszer(ek):
Rendszer 3,reakcid tlizre Rendszer 1
6. Harmonizalt szabvany:
EN 13162:2012+A1:2015 (PN-EN 13162+A1:2015-04)
Bejelentett szerv(ek):
Nem. 0672
Universitat Stuttgart fur die
Materialprifungsanstalt Universitat Stuttgart
(MPA Stuttgart, Otto-Graf-Institut, (FMPA))
7. A nyilatkozatban szerepl6 teljesitmény(ek):
Harmonizalt
Alapvetd jellemzdék Teljesités mdszaki
specifikacio
7.1 Reakcid tlzre Reakcid tlzre Euro osztdlyok Al
Bels6 kornyzet szamara ) A harmonizacio
. Veszélyes anyagok
7.2 veszélyes anyagok ) folyamata nem NPD
i felszabadulasa ,
felszabadulasa meghatarozott
7.3 Hang elnyelési mutaté Hang elnyelés AP, AW NPD
Dinamikus merevsé SD NPD EN
Utéshangok szigetelési V—— § m ~NPD 13162:2012+A1:2015
7.4 mutatdja (padlok a>13g53g (PN-EN
. CsUszdssag CP NPD 13162+A1:2015-04)
esetében) - - —
Leveg&aramlasi ellenallas AFr NPD
Kozvetlenil a levegGben
7.5 terjed6 hangokra LevegGaramlasi ellenallds AFr > 5 kPa*s/m?
vonatkoz6 szigetelési
Folyamtos égés, izzas Folyamtos égés, izzas A harmonizicio
7.6 y ges, y ges, folyamata nem NPD

formajaban formajaban

meghatarozott

Hévezet6 Ap [W/m*K]

Vastagsag dy [mm]

Termikus ellenallas Ry

[mZ*K/W]
25 0,65
40 1,05
45 1,20
50 1,35
60 1,60

28



http://www.ursa.pl/

70 1,85
80 2,15
95 2,55
100 2,70
7.7 Termikus ellenalas 120 3,20
0,037 140 3,75
145 3,90
150 4,05
155 4,15
160 4,30
180 4,85
195 5,25
200 5,40
220 5,90
240 6,45
250 6,75
Vastagsag Vastagsdg tolerancia T T2
. Yt , Rovid tavu vizfelvétel WS NPD
7.8 Vizatereszt6 képesség -
Hosszu lejaratu vizfelszivas WL(P) NPD
7.9 |Vizpara atereszt6 képesség Vizpara ateresztés MU 1
. Nyomodfesziiltség vagy cs NPD
7.10 Nyomaszilardsag nyomoszilardsag
Pontszer( terhelés PL NPD

T(izeseti reakcid tartdssaga
hétartas, id6jaras,

Tliz esetén az dsvanyi gyapotbdl késziilt termékek felhasznaldi tulajdonsagai nem
romlanak az id6 muldsaval. Az Euroklas szerinti osztalyozasban a termék organikus

711 novekedés/csokkenés |alkotdelemeit vették figyelembe, melyek az id6 multaval sem képesek névekedésre.
szempontjabdl, Euro osztdly Al
Az asvdnyi gyapotbdl késziilt termékek hévezetési
Termikus ellenallas egyltthatdja az id6 mulasaval sem valtozik. A
tartdssdga hétartas, Termikus ellenallds, kisérletek igazoltak a szdllak stabilitasat, melyek kdzt
7.12 id6jaras, hévezetési egyltthatd nincsen semmilyen egyéb gaz mint ami a Iégkorben
ndvekedés/csokkenés is megtaldlhato.
szempontjabdl Bejelentett szintek, l1asd a 6.7 pontot
Térfogati stabilitas DS (70,-) NPD
7.13 | Szakité- és hajlitdszilardsag Szakltoszﬂatdsag @ felsol TR NPD
merGleges felliletek mentén
Szakitoszilardsag
7.14 tartdssaga Szakitdszilardsagi elmozdulds CC NPD
ndvekedés/csokkenés

EN
13162:2012+A1:2015
(PN-EN
13162+A1:2015-04)

A fent azonositott termék teljesitménye megfelel a bejelentett teljesitmény(ek)nek. A 305/2011/EU rendeletnek megfeleléen e

teljesitménynyilatkozat kiadasaért kizardlag a fent meghatdrozott gyarto a felelGs.

s 1z

A gyartd nevében és részérdl alaird személy:

Dagbrowa Gdrnicza

30.08.2024

29

Vallalat igazgatdja

P




b

AEKJIAPALLIA POBOYUX XAPAKTEPUCTUK
Hi. 48UGW37NRN19071

o Ce
WRSE

HenosTopHuit iaeHTUiKaLiiiHMi Kog TNy BUpoby:
DF37 MW-EN 13162-T2-MU1-AFr5

YMucHe 3actocyBaHHA ab0 BUAU 3aCTOCYBaHHA:
TennoisonAuia y 6yaiBHUUTBI

BUpO6HUK:

URSA Polska Sp. z 0.0.
ul. Armii Krajowej 12
42-520 Dgbrowa Goérnicza

www.ursa.pl

YNoBHOBaXeHUi1 NpeaCcTaBHUK
He 3acTocoByeTbea

Cuctema(-u) ouiHKK i BepudikaLii He3MIHHOCTI eKcnyaTauiiHMX XapaKTepPUCTUK:
Cuctema 3,peakLia Ha BoroHb Cucrema 1

FapmoHizoBaHa Hopma:

EN 13162:2012+A1:2015 (PN-EN 13162+A1:2015-04)
HotuodikoBaHa oguHuua abo oguHuLi:

Hi. 0672

Universitat Stuttgart fir die

Materialprifungsanstalt Universitat Stuttgart

(MPA Stuttgart, Otto-Graf-Institut, (FMPA))

7. [eKnapoBaHi eKcnayaTaliiHi XapaKTepUCTUKu:
banaHcoBaHa
OcHOBHa XxapaKTepucT1Ka BunoBHeHHsA TeXHiYHa
cneumoikauis
7.1 PeakLia Ha BOroHb PeakLia Ha BOroHb €Bpokaacu Al
BuaineHHA pevyoBuH, . banaHcoBaHoro
BuaineHHa
7.2 Hebe3neyHmx ana meToay He NPD
. Hebe3neyHux pevyoBuH
BHYTPIiLWHbOro cepeoBmLLa BM3HAYEHO
KoedoiuieHT
7.3 3BYKONOr/IMHAHHA AP, AW NPD
3BYKOMOT/IMHAHHA
EN
WHaMIiYHa TBEpAiCTb SD NPD
KOEd)iLI,iEHT isonauii sig, A al 13162:2012+A1:2015
. ToBwmHa, dL dL NPD (PN-EN
7.4 yOapHUX 3BYKiB (anA -
. CtucaumsicTb Ccp NPD 13162+A1:2015-04)
nignor) - -
Onip noToKy nositpA AFr NPD
KoedoiuieHT isonauii Big,
7.5 | noBiTPAHWX 3BYKiB, KOTPi | Onip NOTOKY NOBITPSA AFr >5 kPa*s/m?
nepeHocATbCA
- MocTifHe cnantoBaHHA | banaHcoBaHoro
MocTiHe cnantoBaHHA y .
7.6 . y BUrNAAi MeToA4y He NPD
BUMNAAI PO3XKapHOBaHHA
PO3KaprOBaHHA BM3HAYeHO
TenJIoNpoBiAHICTb . V.
POBIA ToswmHa dy [Mmm]| TepmiuHuit onip Ry [M?*K/BT]
[BT/m*K]
25 0,65
40 1,05
45 1,20
50 1,35
60 1,60
70 1,85

30



http://www.ursa.pl/

80 2,15
95 2,55
100 2,70
120 3,20
7.7 Tennoswuii onip 0.037 140 375
145 3,90
150 4,05
155 4,15
160 4,30
180 4,85
195 5,25
200 5,40
220 5,90
240 6,45
250 6,75
ToBWMHA ZOMNYCK MO TOBLWMHI T T2
RopoTKOYacHe
P WS NPD
7.8 BOAONPOHMKHICTDL S P ———
) OBroCTpOKOBE
A P WL(P) NPD
BOAOMOI/INHAHHA
. .. MPOHUKHICTb BOAAHOT
7.9 |MpOHUKHICTb BOAAHOI Napwm P A MU 1
napu
CTuckaroya Hanpyra
o Py (& NPD
o . abo CTinKicTb A0
7.10] CTiNKiCTb A0 CTUCKAHHA Ty ——
pea PL NPD
HaBaHTAXXEHHA

7.11

CTilKicTb peaKLii Ha BOroHb
B 3a/1€)KHOCTI Big Tenna,
NoroAHMX ymos,
cTapiHHA/perpagauii

EKcnnyaTauiliHi BNacTMBOCTI Ha BOrOHb A1 BUPO6iB 3 MiHepanbHOT BaTu
He noripwyrTbea 3 Yacom. Knacudikauis Bupoby no Espoknacy
noB’A3aHa 3 BMiCTOM OpraHiYHMX YacTUH, KOTPi HE MOXKYTb 36inbLUyBaTH 3

4yacom.

€spoknac Al

CTiliKicTb TENI0BOTO ONOPY
B 3a/1€)KHOCTI Big Tenna,

Tennoswuit onip —
KoedilieHT

KoeoiuieHT TennonposigHocTi BUpobis 3
MiHEepPaNbHOI BAaTU HE 3MIHIOETLCA 3 YAaCOM.
[Jocsig nokasas cTabinbHICTb CTPYKTYpH
BOJIOKOH, @ MOPU HE MICTATb }KOAHUX iHLUMX

7.12 NOrogHMX ymos, TennonpoBigHOCTI . . .
. rasis, Kpim aTmocepHoro nosiTpa
cTapiHHa/perpaaauii L .
3ageKknaposaHi piBHi, aue. Po3ain 6.7
Po3mipHa cTabinbHicTb DS (70,-) NPD
CTIMKICTb A0
CTiliKicTb O 03TAryBaHHA
7.13 A POSTAIY R NPD
PO3TAryBaHHA/3rMHaHHA nepneHguMKynsapHoro
N0 nepenHix
CrinkicTb onopy go n .
. OB3YyU4iCTb NpU
7.14| CTUCKaHHA B 3a/1€KHOCTI Y P CcC NPD

Bif, cTapiHHA/nerpaaauii

CTUCKaHHI

EN
13162:2012+A1:2015
(PN-EN
13162+A1:2015-04)

EKcnnyaTauiiHi XapaKTepUCTMKN BUSHAUYEHOro Bulle BUPOOY BiANOBIAAIOTb KOMNIEKTY AeKNapOBaHMUX
eKCnJlyaTaliHMX XapaKTepucTuK. Lia geknapauia eKcnayatauiiHUX XapaKTepucTuk 6yna BuaaHa 3rigHo 3

posnopagxeHHam (EC) Ne 305/2011 Ha BUKAIOUYHY BiANOBIAaNbHICTb BUPOBGHMKA, BU3HAUEHC

Big imeHi BUpo6HMKa nianucas(-a):

Dabrowa Gdrnicza

30.08.2024

31




ENVIRONMENTAL PRODUCT
DECLARATION (EPD)

In accordance with ISO 14025:2006 and EN 15804:2012+A2:2019/AC:2021 for

URSA GLASSWOOL

EPD of multiple products, based on a representative
product (representative product URSA GOLD 35)

150 mm

R=4.25 m2-K/W

List of all covered products on Annex |

Owner: URSA INSULATION S.A

Programme: The International EPD® System,
. - e
www.environdec.com ,.15 a 5! L
Programme operator: EPD International AB = e Wl
| VERIFIED |
EPD registration number: EPD-IES-0002844:001 ¢ e —— s

Publication date: 2025-02-24

valid until: 2030-02-23 | E P D ®

THE INTERNATIONAL EPD® SYSTEM
An EPD should provide current information and may be updated if conditions change. The stated validity is therefore subject to the

continued registration and publication at www.environdec.com

et “ inspiring ways
# of living


http://www.environdec.com/
http://www.environdec.com/

e
URSa

General information
EPD Owner: URSA Insulation. Paseo de Recoletos 3, 28004 Madrid (Spain)

Programme used: The International EPD® System. www.environdec.com info@environdec.com

EPD prepared by: Silvia Herranz (URSA Insulation)
Contact: silvia.herranz@etexgroup.com

Date of issue: 2025-02-24

Valid: 2030-02-23

Programme: The International EPD® System
EPD International AB
Address: Box 210 60
SE-100 31 Stockholm, Sweden
Website: www.environdec.com
E-mail: info@environdec.com

CEN standard EN 15804+A2 serves as the Core Product Category Rules (PCR)

Product Category Rules (PCR): PCR 2019:14. Construction products (EN 15804+A2)
Version 1.3.4. PCR 2019:14-c-PCR-005 c-PCR-005 Thermal Insulation products (EN
16783) (2024-05-03)

PCR review was conducted by: The Technical Committee of the International EPD®
System. See www.environdec.com/TC for a list of members.

Review chair: Claudia A. Pefia. The review panel may be contacted via the Secretariat
info@environdec.com

Independent third-party verification of the declaration and data, according to
ISO 14025:2006:

O EPD process certification* EPD verification
*For EPD Process Certification, an accredited certification body certifies and reviews the management process and verifies EPDs|
published on a regular basis. For details about third-party verification procedure of the EPDs, see GPI.

Third-party verifier: Itxaso Trabudua, IK Ingenieria S.L.
Approved by: The International EPD® System

Procedure for follow-up of data during EPD validity involves third party verifier:
Yes O No

The EPD owner has the sole ownership, liability, and responsibility for the EPD.

EPDs within the same product category but registered in different EPD programs, or not compliant with EN 15804,
may not be comparable. For two EPDs to be comparable, they must be based on the same PCR (including the
same version number) or be based on fully-aligned PCRs or versions of PCRs; cover products with identical
functions, technical performances and use (e.g. identical declared/functional units); have equivalent system
boundaries and descriptions of data; apply equivalent data quality requirements, methods of data collection, and
allocation methods; apply identical cut-off rules and impact assessment methods (including the same version of
characterization factors); have equivalent content declarations; and be valid at the time of comparison. For further
information about comparability, see EN 15804 and 1SO 14025.

et “ inspiring ways
#~ of living


http://www.environdec.com/
mailto:info@environdec.com
mailto:silvia.herranz@etexgroup.com
http://www.environdec.com/
http://www.environdec.com/TC

e
URSa

Company information

Owner of the EPD: URSA Insulation S.A.

Contact: Silvia Herranz (Sustainability & Technical Manager) (silvia.herranz@etexgroup.com)

Description of the organization: URSA is a company dedicated to the production and
commercialization of thermal and acoustic insulation materials aimed at sustainability and energy
efficiency in buildings. It is currently one of the largest manufacturers in Europe of mineral wool and
extruded polystyrene (XPS), two totally complementary insulation materials that contribute to the
thermal and acoustic insulation of buildings. There are 11 factories throughout Europe and the
headquarters are in Spain.

URSA manufactures products for thermal and acoustic insulation that is used in buildings, building

equipment and industrial installations following European standards:

- EN 13162:2012+A1:2015 Thermal insulation products for buildings - Factory made mineral wool
(MW) products — Specification.

- EN 14303:2015 Thermal insulation products for building equipment and industrial installations -
Factory made mineral wool (MW) products — Specification.

- EN 14064-1:2018 Thermal insulation products for buildings - In-situ formed loose-fill mineral wool
(MW) products - Part 1: Specification for the loose-fill products before installation.

- EN 14064-2:2010 Thermal insulation products for buildings - In-situ formed loose-fill mineral wool
(MW) products - Part 2: Specification for the installed products.

Product-related or management system-related certifications: Dabrowa plant is covered by EPD
process certification system, are certified ISO 9001, ISO 14001, ISO 45001 (Certificate Registration No.
AC090 100/0254/997/2012, AC090 104/0254/997/2012, AC090 126/0254/997/2012 respectively).

Name and location of production site(s): Dabrowa, Armii Krajowej 12, 42-520 Dgbrowa Gdrnicza,

Poland.

et “* inspiring ways
#~ of living


mailto:silvia.herranz@etexgroup.com

e
URSa
Product information

Product name: URSA GLASSWOOL GOLD 35. URSA GLASSWOOL mineral wool panel in
accordance with the EN 13162 standard, non-hydrophilic, without facing. Supplied in roll and panel

format.
Product identification: this EPD describes the environmental impacts for glass wool family products
manufactured in Dabrowa’s plant. The reference product is URSA GOLD 35, and the thickness of 150

mm has been selected, taking into account its representativeness in market sales.

Thickness (mm) R -Value (m?*K/W) Weight, kg/m?
40

1.10 0.760

50 1.40 0.950
60 1.70 1.140
80 2.25 1.520
100 2.85 1.900
120 3.40 2.280
140 4.00 2.660
150 (Declared product) 4.25 2.850
160 4.55 3.040
180 5.10 3.420
200 5.70 3.800
220 6.25 4.180
240 6.85 4.560
250 7.10 4.750

Product description: URSA manufactures glass wool using natural and plentiful raw materials (sand)
or recycled materials (Cullet) in a fusion and fiber formation process. The products obtained are

presented in the form of a "mineral wool mattress" composed of a flexible airy structure or loose flakes.

Thanks to their intertwined structure, mineral wools (glass wool or stone wool) are porous materials
which trap air, thus providing an insulation solution. The porous and elastic structure of the mineral wool
also absorbs aerial noise, impact sounds and enables acoustic correction inside buildings and premises.
Finally, as they are based on naturally incombustible minerals, mineral wools are incombustible and do

not propagate fire.

Insulation with mineral wool (glass wool) is used in buildings and in industrial installations. It ensures a

high level of comfort, reduces energy costs, reduces carbon dioxide emissions (CO2), prevents heat

et “* inspiring ways
#~ of living



e
URSa

loss through sloping roofs, walls, ceilings, pipes, and boilers, reduces sound pollution and protects

houses and industrial installations from risk of fire.

The following table gathers all the main technical information for the representative product. The service

life of this glass wool product was established at 50 years.

Technical data and physical characteristics

Thickness mm 40-250 (150 for the reference
product)
R-value m2K/W 1.10-7.10
Thermal Conductivity W/(m.K) EN 12667 D
EN 12939
Fire reaction Euroclas EN N
e 13501-1
Air Flow resistivity EN 29053 AFr5
Thickness tolerance EN 823 T2
Water vapour transmission (p) EN 12086 MU1
Reference standard to declare the EN 13162
efficacy of the product
Designation code CE DP34 MW-EN 13162-T2-MU1-AFr5
Application Thermal insulation in Building

UN CPC code: 37990 Non-metallic mineral products N.E.C (including mineral wool, expanded mineral

materials, worked mica, articles of mica, non-electrical articles of graphite or other carbon and articles

of pear)

Geographical scope: The product is manufactured in Poland. The product is marketed mainly in

Europe.

el

N inspiring ways
# of living



e
URSa

LCA Information

Functional unit: "Perform a thermal insulation function on 1 m? of wall by ensuring the thermal
resistance of R = 4.25 K.m2. W-1", include thickness 150 mm.”

The thermal resistances of all the products covered by the EPD are between 1.30 and 5.70 (m*K/W)
and weigh between 1 to 4,4 kg/m>.

The variability of the products, as the EPD covers a complete Glass Wool family from Dabrowa’s plant,
and it is stated on the data quality requirements with a range of -52%+49% for the GWP-GHG indicator.
The rest of the indicator’s variability is detailed below for the worst- and best-case scenarios. The
variability is wide due to the fact that all the glass wool family products from the plant are being

considered.

e
WDP 80% -76%

Reference service life: 50 years.

The choice of a 50-year-old RSL is based on the provisions included in the document prepared by CEN
TC 88 “Thermal insulation products — Product category rules (PCR) for factory made and in-situ formed
products for preparing environmental product declarations — Complementary element » System
boundaries, scenarios, and modelling assumptions.

Time representativeness: Plant production data for the complete year 2023.

Database(s) and LCA software used: ECOINVENT 3.10, 15804+A2_lA v4.1, OPENLCA 2.4.0 (2023).
EF 3.1

Description of system boundaries: this LCA report considers the scope ‘c) Cradle to grave and
module D (A + B + C + D)’. defined in the PCR 2019:14-c-PCR-005 Thermal Insulation products (EN

et “* inspiring ways
#~ of living



e«
16783) (2024-05-03). The analysis covers the full life cycle of the glass wool products, from the
extraction of raw materials to the final disposal.

CONSTRUCTION

PRODUCTION

END OF LIFE

Product stage A1-A3

The production phase of mineral wool products is divided into three modules: raw materials supply (A1),
raw materials transport (A2) and manufacture (A3).

Al Raw materials supply: this module considers the supply and processing of all raw materials and
the energies they produce prior to the manufacturing process. In particular, it covers the supply of raw
materials for manufacturing binding and glass fibers. In addition to these raw materials, recycled

materials (cullet) are used in the process.

A2 Raw materials supply transport: this stage takes into account the transportation from the suppliers
to the manufacturing plant (Dabrowa plant (Poland)). In the case of several suppliers an average value
has been adopted, that is representative.

A3 Manufacturing: Glass wool manufacture includes stages of fusion and fiber formation (see diagram
of manufacturing process). Furthermore, production of packaging is considered during this phase.
Regarding the electricity modelling, only green electricity has been considered with the relevant
documentation on Guarantees of Origin. The main characteristics of Dabrowa’s electricity mix are:

- The amount of electricity (in kwh) is covered.

- The time periods for issue and validity of the contract: 2023-01-01 do 2023-12-31. Contract until 2029.
- The energy comes 50% from solar and 50% from wind energy.

Besides, in relation to the contribution to the environmental impacts of the product, the production

of 1 kWh of electricity consumed by the average production in Dabrowa in 2023 generated 0.06068

kg of CO2 eg. emissions.

et “ inspiring ways
#~ of living



e
URSa

MELTING

FIBERIZING

FORMING
(curing oven)

PALLETIZATION

A4-A5 Construction phase
The construction phase is divided into two modules: transport to the construction site (A4) and

installation in the building (A5).

A4 Transport
This module includes transport from factory to site. Weighted average value of Europe, being the
majority market is Poland. The transport is calculated based on a scenario that includes the following

parameters:

Parameter Value

Type of fuel and consumption of the vehicle or The vehicle runs on diesel, its emission standard is

type of vehicle used for the transport for example, classified as EURO5 and it falls under the truck size

long distance lorry, boat, etc. class of 7.5 to 16 metric tons
Average distance to site Lorry: 460 km
Use of capacity (including returning empty) 100 % volume capacity

) 412.50-58.50 m2 per pallet and 22 pallets per lorry
Density of transported product ]
Density of product )=19 kg/m?

Coefficient of use of volume capacity >1 (products compressed in the packaging)

A5 Installation: this module includes the waste products created during manual installation of the
mineral wool in the building, supplementary production required to compensate losses and treatment of
site waste. The scenarios used for the quantity of waste generated during the installation and the

treatment of the site waste are as follows:

et “* inspiring ways
#~ of living



e
URSa

Parameter Value

Ancillary inputs for installation (specified by material) No ancillary inputs
Use of water No water used
Use of other resources No other resources

Quantitative description of the type of energy (regional )

) ; ] ) ) No energy required
mix) and consumption during the installation process
Waste produced on the construction site prior to waste

) ) 2 % of glass wool

treatment generated by installation of the product
(specified by type)
Materials (specified by type) produced by waste treatment All glass wool waste, its packaging and
on the construction site, for example collection with a view waste deriving from excess production

to recycling, recovery of energy, disposal (specified by for installation are considered as

channel) disposed of in landfill 69-243 gr/UF
Transport to landfill 50 km
Direct emissions to atmosphere, soil and water No emissions to be considered

B1-B7 Phase of use

The use phase is considered, but its impact is zero due to the type of functionality of the glass wool
products. No technical operation is required during the useful phase until the end of service life.
Thus, mineral wool does not have any impact during this phase and also permits potential energy
savings during its lifetimes.

C1-C4 End of life phase
This phase includes the different modules of the end of service life as follows: C1, deconstruction,

demolition; C2, transport to waste treatment; C3, waste treatment with a view to their reuse, recovery

and/or recycling; C4, disposal.
Deconstruction, demolition: Deconstruction and /or dismantling of the insulation products is part of
the demolition work of an entire building. In our case the environmental impact is. Not significant and it's

below the cut-off rules

Transport to waste treatment site: The use of the model for transport is considered (see A4, transport

to the construction site) at a distance of 50 km.

Waste treatment with a view to reuse, recovery, and/or recycling: The product is considered for

landfill without reuse, recovery and/or recycling.

et “* inspiring ways
#~ of living



e
URSa

Disposal: Glass wool should be installed in a storage facility for non-inert and non-hazardous waste

Parameter Value

Collection procedure specified by type 0.760-4.750 kg of glass wool (collected with mixed
construction waste)

Recovery system specified by type No reuse, no recycling, no energy recovery

Disposal specified by type 0.760-4.750 kg of glass wool kept in storage facility

for non-inert and non-hazardous waste
Hypotheses for creating scenarios (for example

100% Landfill
transport)

D Benefit and charge (refer to standard)
This module considers the hypothetical stage where potential glass and pallet leftovers and its

possibilities to be recycled.

Allocation procedures: The allocation procedure used for the LCI is physical, based on the mass (kg
of production).

Regarding the pre-consumer material, part of the external cullet, an economic allocation shall be done
as it is stated on PCR 2019:14 v1.3.4 section 4.5.5 Guidance on the allocation of scrap. The external
cullet for Poland has two suppliers and glass comes from two different sectors (car windows and medical
glass).

Applying the allocation rules with estimated prices from existing companies in the market the economic
allocation is less than 1%. Due to this low value and following standard EN 15804+A2, no impact will be

applied to the pre-consumer cullet and the economic allocation will be negligible.

Table — Economic allocation for window glass

Glass: Source Year Economic
windows allocation

Primary glass External source 2025 99,51%

Recycled glass Internal source 2023 0,49%

Table — Economic allocation for medical glass

Glass: medical Source Source Economic
allocation

Primary glass External source 2025 99,61%

Recycled glass Internal source 2023 0,39%

10 et N inspiring ways
# of living



e
URSa

Hypotheses and considerations:
The LCA study has been developed using the Ecoinvent v3.10 database and the software OpenLCA

v2.4.0. The main hypothesis of the study are listed below:

- The production data used on the LCI analysis corresponds to 2023.

- The report gathers 49 references and the LCA has been developed with the reference product
GLASSWOOL GOLD 35, the most sold product.

- For module C2, a distance of 50 km has been considered for transport between the place of
generation of waste and its treatment point. (Product Environmental Footprint, PEF).

- The recycling rates defined on the Annex C of the PEF (Product Environmental Footprint) have

been used for the calculation of the material for recycling.

Cut-off rules:
In the case that there is not enough information, the energy process and materials According to PCR
2019:14 Construction Products v1.3.4 and EN 15804:2012+A2:2019/AC:2021, at least 95% of all mass

and energy inputs and outputs of the central system have been included in the analysis.

The infrastructure and capital goods have been excluded from the LCA. Besides, the following flows are
excluded from the system boundaries, given their relatively low contribution to the impacts of the

production system:

e Lighting, heating and cleaning of workshops,

e the administrative department,

e transportation of employees,

e the manufacture of the production tool and transport systems (machines, trucks, etc.),

e the maintenance of the factory infrastructure has not been considered,

o diffuse emissions of particulate matter during transport and storage of raw materials, & long-term

emissions.

Additional Information

EUCEB:

Mineral wool fibers have been exempted from carcinogenic classification according to: Regulation on
classification and labelling of substances and mixtures Regulation (EC) n° 1272/2008 and its last update
Regulation (EU) n° 2021/643. They have in fact successfully passed the tests established by this
Regulation and their biopersistance is lower than the values defined in note « Q » of this text. This

exemption is certified by the European CEtrtification Board (EUCEB - www.euceb.org).

11 et N inspiring ways
# of living



’(’(«
The EUCERB certifies that fibers conform to note « Q » of the Regulation (EC) n° 1272/2008. The EUCEB
guarantees that the exemption tests have been executed in conformance with European protocols, that

industrial entities have control procedures in place during manufacture of the products, and that third

parties inspect and approve the results.
The industrial entities in respect of EUCEB undertake as follows:

. To provide a test report compiled by a EUCEB recognized laboratory providing proof that the
fibers satisfy one of the four exemption conditions established in note « Q » of Regulation (EC) n°
1272/2008,

. Twice yearly, to undergo production inspection by an independent third party recognized by
EUCEB (sample taking and conformance with initial chemical analysis),

. To set up internal control procedures in each factory.

The products with this certification are recognizable as they have the EUCEB logo affixed to their
packaging

REACH:

Regulation (EC) No. 1907/2006 of the European Parliament and of the Council of 18 December
2006 concerning Registration, Evaluation, Authorization and Restriction of Chemicals (REACH).

The glass wool products (rolls and boards) manufactured by URSA are defined as “articles” according
to the article 3 (3) of EC Regulation 1907/2006 (REACH). Articles, whose functionality is more
determinate by the shape, surface or design given in their production process, than by its chemical

composition.

There, according to Art. 2 of EC Regulation 1907/2006 (REACH) our articles are excluded from the EC
Regulation 1907/2006 (REACH).

Our products do not contain Substances of Very High Concern (SVHC) in a higher concentration than
0,1 % by weight according to the last update of the candidate list know at the date this document was

issued.

12 et N inspiring ways
# of living



’(’(«
ECHA-European Chemicals Agency regularly published an update SHVC list. The validity of this

statement is therefore of ECHA new publications.

Circular Economy:

Recycled Glass Content:

According to ISO 14021

1) Recycled Contentis a Proportion, by mass, of recycled material in a product. Only pre-consumer
and post-consumer materials shall be considered as recycled content, consistent with the

following use of terms,

Pre-consumer material: Material diverted from waste stream during a manufacturing process. Excluded

is reutilization of materials such as rework, regrind or scrap generated in a process and capable of being

reclaimed within the same process that generated it.

Post-consumer material: Material generated by households or by commercial, industrial and institutional

facilities in their role as end-users of the product which can no longer be used for its intended purpose.

This includes returns of materials from the distribution chain.

2) Recovered material: Material that would have otherwise been disposed of a waste or used for
energy recovery but has instead been collected and recovered as a material input, in lieu of new

primary material, for a recycling or a manufacturing process.
For the Dabrowa plant, in the year 2023, the values are:

Minimum 70% Recycled Glass Content, a mix of pre-consumer and post-consumer recycled

material.
Certificate n°. SCS-RC-20328.

European Waste Codes

Waste glass wool in the module A5 and C will be classified according to the European Waste Codes:
17 06 04 insulation materials other than those mentioned in 17 06 01 and 17 06 03

13 et N inspiring ways
# of living



(o
URSa

Data quality requirements:

The data collection has considered 1 year (2023), following “Data quality level and criteria of the UN
Environment Global Guidance on LCA database development” annex E, EN 15804+A2. It is quantified
that all the data gathered for the LCA has a medium level of quality (3.8 out of 5), having a range of

‘very poor’ (1), poor (29, medium (3), good (4) and very good (5).

The Ecoinvent 3.10 and EuGeos' 15804+A2_|A v4.1 databases have been used to choose the most
representative processes, considering that the data is representative of technological development,
regionalized data and as current as possible. These data have been treated in the OpenLCA 2.4.0
software for LCA modeling and the calculation of environmental impact categories, complying with the

quality requirements established in the PCR.

Modules declared, geographical scope, share of specific data (in GWP-GHG indicator) and data

variation:

Phases and modules of life cycle taken into account

Construction
phase

Production

phase End of life phase

Use phase

D Benefits and loads
beyond the limits of the system

IIIII - .

A5 Installation
B2 Maintenance
B3 Repair
B5 Refurbishment
o
... "8 - = Energy =
o
B7 Use of water
C2 Transport
C3 Waste treatment

@
... - g - - Replacement

C1 Deconstruction / demolition

X X
Poland | Global | &
>90% >90%
GWP GWP
\[¢]
variabilit | variabilit
y y

Poland

17%

-52%/+49%

()

=
<]
o
@
=
©
i
'_
<
<

14 et “ inspiring ways
#~ of living



1o
URSa

Content information

The content of the information gathered on the following table refers to the representative product

GLASWOOL GOLD 35.

Biogenic material,

Pre-consumer Post-consumer )
Product Weight, kg/m? | material, weight- : : weight-% and kg
material, weight-%
components % Clkg
2.850 (90- e 15 0
0 0
Glass wool 100%)
0-10% - - 0

Binder

: . Weight-% (versus Weight biogenic
Packaging components Weight, kg/m2 the product carbon, kg C/kg

Plastic Packaging 0.017
Wood Pallet 0.157 - 0.288
TOTAL 0.174 6 -
15 et “ inspiring ways
#~ of living



(o
URSa

Results of the environmental performance indicators

The following tables gather the environmental impacts. Estimated impact results are only relative

statements that do not indicate impact category endpoints, exceeding threshold values, safety margins,

or risks.

16 et ~ inspiring ways
% of living



e
Potential environmental impact — mandatory indicators according to EN 15804
The use of the results of modules A1-A3 (A1-A5 for services) without considering the results of module C.

Results per functional or declared unit for the representative product GOLD 35

o phase end oflife phase

Indicator I

o
o
Al/A2/A3

B6 Energy use
C2 Transport
C4 Removal

I B7 Use of water

B5 Refurbishment
C1 Deconstruction
demolition
C3 Waste treatment
D Benefits and loads
beyond the limits of the

0.00E+00

A4 Transport
A5 Installation
B2 Maintenance
B3 Repair
B4 Replacement

LR
9575
LT

2.19E-07

EP-freshwater kg P eq. 3.49E-04
m kg N eq. 1.26E-03 1.03E-05 | 0.00E+00
EP-terrestrial m 2.58E-02 1.12E-04 | 0.00E+00
POCP kg NMVOC eq. 2 78E-02
minerals&metals*

(D] Y, "\fatlﬁi'o”"c 7.56E+00 0.00E+00 | 0.00E+00 | 0.00E+00 | 0.00E+00 | 0.00E+00 | 0.00E+00 | 0.00E+00 | 0.00E+00 | 1.43E-01 | 0.00E+00 | 2.46E-02
k-
mz‘:i’\'l‘igq' 9.67E-01 1E-02 0.00E+00 | 0.00E+00 | 0.00E+00 | 0.00E+00 | 0.00E+00 | 0.00E+00 | 0.00E+00 0E+00 | 6.87E-04 | 0.00E+00 | 1.30E-03

GWP-fossil = Global Warming Potential fossil fuels; GWP-biogenic = Global Warming Potential biogenic; GWP-luluc = Global Warming Potential land use and land use change; ODP = Depletion potential of the stratospheric ozone
layer; AP = Acidification potential, Accumulated Exceedance; EP-freshwater = Eutrophication potential, fraction of nutrients reaching freshwater end compartment; EP-marine = Eutrophication potential, fraction of nutrients reaching
marine end compartment; EP-terrestrial = Eutrophication potential, Accumulated Exceedance; POCP = Formation potential of tropospheric ozone; ADP-minerals&metals = Abiotic depletion potential for non-fossil resources; ADP-fossil
= Abiotic depletion for fossil resources potential; WDP = Water deprivation potential, deprivation-weighted water consumption

* Disclaimer: The results of this environmental impact indicator shall be used with care as the uncertainties of these results are high or as there is limited experience with the indicator.

o ele>s g was



e
URSa

Potential environmental impact — additional mandatory and voluntary indicators
Results per functional or declared unit for the representative product GOLD 35

-- consirtiction phase vse phase end ofife phase

C3 Waste
treatment
C4 Removal

/ demolition
D Benefits and loads

beyond the limits of the

Al/A2/A3
A4 Transport
A5 Installation
B2 Maintenance
B4 Replacement
B5 Refurbishment
B6 Energy use
B7 Use of water
C1 Deconstruction
C2 Transport

1.36E+00 3.10E: 0.00E+00 | 0.00E+00 | 0.00E+00 | 0.00E+00 | 0.00E+00 | 0.00E+00 0.00E+00 0.00E+00 3E-02 | 0.00E+00 | 1.47E-02 -

Use of resources
Results per functional or declared unit for the representative product GOLD 35

-- End oftie phase

imits of the

A5 Installation
Replacement
C2 Transport
C3 Waste
treatment
C4 Removal
D Benefits and loads

Al/A2 /A3
A4 Transport
B5 Refurbishment
B6 Energy use
B7 Use of water

B2 Maintenance
B3 Repair

B4

1.01E+00 0.00E+00 | 0.00E+00 | 0.00E+00 | 0.00E+00 | 0.00E+00 | 0.00E+00

4.23E+00 8.48E-02 8.46E-02 0.00E+00 | 0.00E+00 | 0.00E+00 | 0.00E+00 | 0.00E+00 | 0.00E+00 0.00E+00

7.00E+00 39E+00 1.46E-01 0.00E+00 | 0.00E+00 | 0.00E+00 | 0.00E+00 | 0.00E+00 | 0.00E+00 0.00E+00

5.58E-01

1 This indicator accounts for all greenhouse gases except biogenic carbon dioxide uptake and emissions and biogenic carbon stored in the product. As such, the indicator is identical to GWP-total

except that the CF for biogenic CO2 is set to zero.

18 ele>s g was



e
URSa

Results per functional or declared unit for the representative product GOLD 35

-- oo “on phase construcion phase End ofiife phase

0
o
<
o
©

mits of the

C2 Transport
C3 Waste
treatment

C4 Removal

D Benefits

B7 Use of water
beyond the

Al/A2 /A3
A4 Transport
A5 Installation
B4 Replacement
B6 Energy use

Waste production and output flows
Waste production

Results per functional or declared unit for the representative product GOLD 35

on phase Construction phase Use phase

o
o
=
=
()
=]
=
QD
wn
@

D Benefits and loads
beyond the limits of the

o
=
o

III Al/A2/A3
A4 Transport
A5 Installation
o
B1 Use

B5 Refurbishment
demolition
C2 Transport
C4 Removal

C1 Deconstruc
C3 Waste treatment

5.98E-03

I B6 Energy use
I B7 Use of water

S]
I
+
o
S]
o
=1
m
+
<)
S
o
=1
m
+
o
S
o
S]
I
+
o
S]
o
S]
I
+
o
S]
o
=1
m
+
<)
S

B2 Maintenance
B3 Repair
III B4 Replacement

0.00E+00 | 0.00E+00 | 0.00E+00 | 0.00E+00 | 0.00E+00 | 0.00E+00 0.00E+00
0.00E+00 | 0.00E+00 | 0.00E+00 | 0.00E+00 | 0.00E+00 | 0.00E+00 0.00E+00

4.56E-01

5.11E-05

19 ele>s g was



e
URSa

Output flows

Results per functional or declared unit for the representative product GOLD 35

end oflite phase

I C4 Removal

D Benefits and loads
beyond the limits of the

B5 Refurbishment

I B6 Energy use
I B7 Use of water

C1 Deconstruction /
demolition
C3 Waste treatment

I C2 Transport

0.00E+00 0.00E+00 | 0.00E+00 0.00E+00

use
recove
electrici
:
thermal

0.00E+00 0.00E+00 | 0.00E+00 | 0.00E+00 | 0.00E+00 | 0.00E+00 | 0.00E+00
1.60E+00 b 0.00E+00 | 0.00E+00 | 0.00E+00 | 0.00E+00 | 0.00E+00 | 0.00E+00 0.00E+00 0.00E+00 | 0.00E+00 | 0.00E+00 | 0.00E+00

0.00E+00 0.00E+00 | 0.00E+00 | 0.00E+00 | 0.00E+00 | 0.00E+00 | 0.00E+00 0.00E+00 | 0.00E+00 | 0.00E+00 | 0.00E+00
0.00E+00 0.00E+00 | 0.00E+00 | 0.00E+00 | 0.00E+00 | 0.00E+00

kg
kg
kg
MJ

i

0.00E+00

tion phase

o €
— o o O

(32] S © =
5 < 2 = 5] = =
I=) - %) K] = (7}
= @ =3 o
© o = © = ) 4
= < © @ c 04 5
g - [= = < ™ (]
= o) b o = s} [

N
S ® D

20 ele>s g was



e
URSa

References

ISO 14040:2006 Environmental management — Life cycle assessment — Principles and

framework

- ISO 14044:2006 Environmental management — Life cycle assessment — Requirements and

guidelines

- UNE-EN ISO 14020:2002 -Environmental labels and declarations - General principles. (ISO
14020:2000)

- UNE-EN ISO 14025:2006 - Environmental labels and declarations — Type Ill environmental

declarations — Principles and procedures.

- EN 15804:2012+A2:2019 Sustainability of construction works - Environmental product

declarations - Core rules for the product category of construction products
- EN 16783:2024 Thermal insulation products. Environmental Product
- PCR 2019:14. Construction products (EN 15804+A2) Version 1.3.4. PCR 2019:14
- ¢-PCR-005 c-PCR-005 Thermal Insulation products (EN 16783) (2024-05-03)
- General Programme Instructions of the International EPD® System. Version 4.

- LCA Report (Version 4 — 30.01.2024)

21 et N inspiring ways
#~ of living



Annex I: list of products covered by the EPD

1 Co

UR

4
Sa

GLASSWOOL FAMILY REFERENCES

© 00 N o o B~ W N P

W W W W W N N N DN N DN DN DN DNNMNDN P PP PR R, R RE PR
A W N P O ©O 0 N O O B W N P O ©O O N OO O B W N B O

URSA PLATINUM 32
URSA TEP

URSA AMBER 33
URSA SILENTIO 33
URSA VENTO 34

URSA PROFILO 35
URSA GOLD 35

URSA FERMTERM 35
URSA FRAMEWOOL 35
URSA TRS-TAP-HCS 22
URSA OPTIMUM 37
URSA PROFILO 37
URSA MODULO 37
URSA SILENTIO 37
URSA SILENTIO 38
URSA SILVER 39
URSA FERMOTERM 39
URSA FRAMEWOOL 39
URSA PROFILO 39
URSA CRISTAL 40
URSA PRACTIC 42
URSA DF 45

URSA PROFESJONALNA 34
STANDARDOWA 38
URSA BUDOWLANA 44
URSA ULTRA 33

URSA PREMIUM 35
URSA KOMFORT 40
URSA STANDARD
URSA HOME 33

URSA HOME 37

URSA HOME 39

URSA HOME 40

URSA ESSENTIA ROLL

22

el

N inspiring ways
# of living



35
36
37
38
39
40
41
42
43
44
45
46
47
48
49

URSA HOMEWALL
URSA GRANULO
URSA THERMO 35
URSA THERMO ULTRA 33
URSA MULTISKIVA 37
URSA NORPLATTE 37
URSA MATA 35

URSA I-BJELKE 35
URSA MATA 37

URSA MATA 34

URSA TAPE 22

URSA MULTISKIVA 37
URSA MULTISKIVA 35
URSA NORPLATTE 37
URSA ROLL 37

23

e
URSa

el

N inspiring ways
# of living



